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Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 5459272701
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 54592745451 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A series is given with one term missing. Select the correct
alternative from the given ones that will complete the series.

RB, TE, VH, XK, ?

Options:

1. = ZM
2.v LN
3. % AO
4. % AN

Question Number : 1 Question Id : 54592745451 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Uk eTshA o I g, SHA @ vk ug e g fov e
fasredl A & a8 Wl fdhed IV, ST 3ThA T G

RB, TE, VH, XK , ?

Options:

1. = ZM
2. v ZN
3. = AO
4. = AN



Question Number : 2 Question Id : 54592745452 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A series is given with one term missing. Select the correct
alternative from the given ones that will complete the series.

PRO, RWW, TBE, VGM , ?
Options:

1. » XLV
2. » YMU
3. vXLU
4. = YMV

Question Number : 2 Question Id : 54592745452 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

sk 3fefshA feam I g, oA @ vk ug ofed g1 feu A
faredl & & g8 @ET [Ahed IV, ST 30THA FT W R

PRO, RWW, TBE, VGM , ?

Options:

1. = XLV
2. = YMU
3. v XLU
4. = YMV

Question Number : 3 Question Id : 54592745453 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A series is given with one term missing. Select the correct
alternative from the given ones that will complete the series.

MING, JDKB, GYHW, DTER, ?



Options:

1. = APBM
2. » BPCN
3. = BOCN
4. v AOBM

Question Number : 3 Question Id : 54592745453 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Uk 3efshA o 9T &, SHA & Uk 9T oed g fov e
fasredl & & g8 @ET fashed IMAT, ST 36THA HT T

MING, JDKB, GYHW, DTER , ?

Options:

1. = APBM
2. = BPCN
3. = BOCN
4. v AOBM

Question Number : 4 Question Id : 54592745454 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, select the odd word from the given
alternatives.

Options:

1. » Sparrow
2. = Qstrich
3. vFox

4. = Parrot

Question Number : 4 Question Id : 54592745454 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



ﬁnﬁﬁaﬁmﬁcﬁﬁ%ﬁiﬁ@ﬁﬂ?ﬁ%ﬁﬂﬁﬁiiTﬁ%nremazﬁ'gﬁnﬂ

Options:

1. = AT
2. % UIIHI

oD

3. v oNHST
4, « rdr

Question Number : 5 Question Id : 54592745455 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, select the odd word from the given
alternatives.

Options:

1. » Square

2. * Rhombus
3. = Rectangle
4. v Prism

Question Number : 5 Question Id : 54592745455 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafelf@d eat A fqU a0 fasvedl A @ fawaA ereg *1 fav)

Options:

1. = gdl

2. % HIIHS
N B |

3. % H™AJ
4. v TO=H

Question Number : 6 Question Id : 54592745456 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, select the odd word from the given
alternatives.

Options:



1. = Supernova
2. % Sun

3. v Moon

4. = Polestar

Question Number : 6 Question Id : 54592745456 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

mrafe@a wea & Gy 10 T&*wqﬁﬁﬁﬁwa’maﬁﬂﬁvl

Options:

1. = MTOaT dRT
2. % g

3. v TGHT
4. = gadrT

Question Number : 7 Question Id : 54592745457 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, select the related words from the
given alternatives.

Green : Colour :: Pen : ?

Options:

1. = Blue

2. % Gel

3. = Write

4. v Stationary

Question Number : 7 Question Id : 54592745457 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



forafafad mea # Qe a0 faredl # @ Gafad esar S g

& : T 3 ol : ?

Options:

1. = aiTell
2. % el

3. = Terger
4. v TEAT

Question Number : 8 Question Id : 54592745458 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, select the related words from the
given alternatives.

Electrons : Atom :: Pages: ?

Options:

1. = Write
2. v Book
3. = Pen
4. = Ink

Question Number : 8 Question Id : 54592745458 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafafad ma A e aiv fasvedt # @ Gafdd ersal S g

geldelal @ QAT 1 55 © 7

Options:

1. = TorEar
2. v Tohare



4. = T8I

Question Number : 9 Question Id : 54592745459 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, select the related words from the
given alternatives.

Good : Bad :: Wake : ?

Options:

1. v Sleep
2. = Morning
3. = Fresh
4. = Open

Question Number : 9 Question Id : 54592745459 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafafad wa & R aiv fasvedt # @ @afad esar S A

HToT ST 2 SATaTaT ?

Options:

1. v el
2. % gog
3. = drall
4. % el

Question Number : 10 Question Id : 54592745460 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



In a certain code language, ‘SONG’ Is written as ‘1915147,
‘RIBY’ is written as ‘189225’ What is the code for ZAPT in
that code language?

Options:

1. » 2116620
2. v 2611620
3. = 266201
4. = 216160

Question Number : 10 Question Id : 54592745460 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Uk Tafeise I AT #, ‘SONG’ &7 “1915147 Tol@r AT &,
RIBY’ Y 189225 T oiam &1 36 $I5 69T & ZAPT W
IS FAT &7

Options:

1. = 2116620
2. v 2611620
3. = 266201
4. = 216160

Question Number : 11 Question Id : 54592745461 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In a certain code language, ‘PARROT is written as ‘TUVLSN’.
What is the code for ‘SECRET’ in that code language?

Options:

1. =« XXHL]JN
2. » XXGLJN
3. * WYHLIN
4. v WYGLIN



Question Number : 11 Question Id : 54592745461 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ueh TafRse &z AT #, ‘PARROT’ &I ‘TUVLSN’ To@r S1dr &1
SH hig #9T H ‘SECRET’ T I8 F4T §7

Options:

1. = XXHLJN
2. » XXGLJN
3. = WYHLIN
4. v WYGLIN

Question Number : 12 Question Id : 54592745462 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In a certain code language, ‘VERBAL’ is written as ‘AVWYFO’.
What is the code for ‘REASON’ in that code language?

Options:

1. v+ WVFHTM
2. » XVFJVP
3.« WVFJVP
4. » XVFGUQ

Question Number : 12 Question Id : 54592745462 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ueh TafRIse &g AT #, VERBAL® I ‘AVWYFO’ Ter@r AT &
ST hig 99T H ‘REASON’ T &5 FaT 87

Options:

1. v WFHTM
2. » XVFJVP
3. * WVFJVP
4. = XVFGQUQ




Question Number : 13 Question Id : 54592745463 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

P1, P2, P3, P4 and P5 are standing in line facing north. P3
stands in the middle. P2 and P5 cannot stand with P3. P3 is
not standing to the left of P1. Who is standing second from
right end?

Options:

1. = P1
2.v P4
3. = P2
4. % P5

Question Number : 13 Question Id : 54592745463 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

P1, P2, P3, P4, 2T P5 e dierel # 3cad I 30T 7T FTeh
T2 &1 P3, AT A =eT &1 P2 gur P5, P3 & d1Y gl T2 &l
Fhd &1 P3, P1 & T 31 =18l @sT &1 ol a8 gaar

ShleT ST &7

Options:

1. = P1
2. v P4
3. % P2
4. = P5

Question Number : 14 Question Id : 54592745464 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

K1, K2, K3 and K4 are sitting around a circular table facing
towards the centre. K2 is sitting left to the K1. K4 is sitting
right to the K3. Who Is sitting at the second place to the left of
K2?

Options:



1. = K3 or K4
2. % K1
3.vK3
4. = K4

Question Number : 14 Question Id : 54592745464 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

K1, K2, K3 gar K4 T MeTh AT & IRY 3T dheg T 30T
od 4k 8 g1 K2, K1 & il 3T §aT &1 K4, K3 & 2]
3N §oT §1 K2 & a5 310 gt e W i §aT §7

Options:

1. = K3 3Ter@ar K4
2. = Kl
3. v K3
4. = K4

Question Number : 15 Question Id : 54592745465 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Eight persons F1, F2, F3, F4, F5, F6, F7 and F8 are sitting
around a rectangular table facing towards the centre. Two
persons are sitting in each side. F4 is sitting to the opposite of
F3. F2 is sitting to the opposite of F8. F2 s sitting to the
immediate left of F4. F4 and F7 are sitting on the same side.
F5 Is sitting to the opposite of F7. Who is sitting to the opposite
of F6?

Options:

1. = I8
2. % o
3. F2



4.vT1

Question Number : 15 Question Id : 54592745465 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

M kg F1, F2, F3, F4, F5, F6, F7 a«T F8 T IR
AS & R 3N dheg HT I JE FTH §S ) T ST W
ar ated 86 &1 F4, F3 & Rwdia sor §1 F2, F8 & faudia
SoT &1 F2, F4 & a0 ST 3% §aT &1 F4 Jo1 F7 U &
T 9T &S &1 F5, F7 & [awlIq &a1 &1 F6 & Tama sia
SoT &7

Options:

1. = F&
2. » F6
3. » F2
4. v F1

Question Number : 16 Question Id : 54592745466 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Seven persons M1, M2, M3, M4, M5, M6 and M7 are sitting
around a circular table facing towards the centre. M5 Is
sitting between M6 and M7. M1 is sitting between M2 and M4.
M1 is sitting at second place to the left of M6. M4 cannot sit
with M3. Who Is sitting at the third place to the right of M4?

Options:

1. = M3
2. v M7
3. % M2
4, % M5

Question Number : 16 Question Id : 54592745466 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

g =aed M1, M2, M3, M4, M5, M6 T2T M7 Tk MelThR
A & TR 3 Feg T 3T T FWF 95 &1 M5, M6 T2

M7 & &I & daT &1 M1, M2 @1 M4 & &I & §aT &1 M1,
M6 & SRIT 3N gEY TATT T T §1 M4, M3 & 1T FigT 8§86
Tl M4 & ERIT 31N JGY TATT T hid ST &7

Options:

1. = M3
2. v M7
3. = M2
4. = M5

Question Number : 17 Question Id : 54592745467 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Eight girls N1, N2, N3, N4, N5, N6, N7 and N8 are sitting
around a circular table facing towards the centre. N4 is sitting
between N1 and N5. N5 is sitting second to the right of N6. N2
is sitting between N3 and N7. N6 is sitting between N7 and N8.
Who is sitting at third place to the left of N7?

Options:

1. » NG
2. N4
3. % N3
4. v N1

Question Number : 17 Question Id : 54592745467 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



TS asfRar N1, N2, N3, N4, N5, N6, N7 T2r N8 T
JATRI AT F TRT 3N ke T AT T FTh d8 §1 N4, N1
dar N5 & &g # 81 g1 N5, N6 & it 3 i ¥l W
SOT &1 N2, N3 2T N7 & s # ST &1 N6, N7 T2rm N8 &
T J FST g1 N7 & a7 3 dRR Tl T hid ST §7

Options:

1. = N6
2. = N4
3. » N3
4. v N1

Question Number : 18 Question Id : 54592745468 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question below are given some statements
followed by some conclusions based on those statements.
Taking the given statements to be true even if they seem to be
at variance from commonly known facts. Read all the
conclusions and then decide which of the given conclusion
logically follows the given statements.

Statements:
I. All A are B.
II. Some B are C.

Conclusions:

I. Some A are C.
II. Some C are A.
III. Some B are A.

Options:



1. = Both conclusion I and II follows
2. » Both conclusion I and III follows
3. = Both conclusion II and III follows
4. v Only conclusion III follows

Question Number : 18 Question Id : 54592745468 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Eﬁﬁﬁ;@?r@ﬂ‘i’?rﬁ?mqmd 3T 3k T 3T FUAT W

TR Fo sk fqu aw §| Q0 70 Fysl ST Agl A, T8
3IH OTATET AT a2 8 Meerar &l gsfr fasey ud 3 e
iR F¥ ToF U 910 Fier & ooy, G0 a0 Farar & 3maR
T rFaaed gl

R
. T@T A, B &I
. ¥5 B, C ol

GRS H

. 5 A, C &I
I. F5 C, A Bl
Il. ¥= B, A EI

Options:

1. % @l TSk | o || 37eeor F:Td §
2. » Slail TSRy | o |l 3{eTEIor i §
3. = el sy || 9T Il 3{eEIor FId &

4. v hael sy | 3HTELOT FIAT &




Question Number : 19 Question Id : 54592745469 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question below are given some statements
followed by some conclusions based on those statements.
Taking the given statements to be true even if they seem to be
at variance from commonly known facts. Read all the
conclusions and then decide which of the given conclusion
logically follows the given statements.

Statements:
I. Some red are black.
II. Some black are coal.

Conclusions:

I. Some red are coal.
II. Some coal are red.
III. No red is coal.

Options:

1. = Only conclusion I follows

2. = Only conclusion II follows
3. = Only conclusion III follows
4. v Nelther conclusion follows

Question Number : 19 Question Id : 54592745469 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Eﬁﬁﬁ;@?r@q‘i’?rﬁ?aqmd AT Ik FI€ 37 FUAT W
TR Fo sk fqU a0 §| A0 70 FY=l HT Al A, T8
38 TTHET AT J28 8 eerar gh T @ty 06 v i
iR fY ToF U 910 Fier & ooy, 60 a0 Farar & 3maR
T rFaaed gl

<h el

. FS o, HTe ol

. Fo FTel, Il &I

GRS H

. FT o, Il &

. FT e, T &

. FS ST, HIIAT 8T &l

Options:

1. » hgel ToIShY | HATLOT Tl g
2. % had Tashy || IHTEROT FIAT &
3. % haol oSy | 3TELOT Il g
4,

v B ol forsehd 3TeTERor e I ¥

Question Number : 20 Question Id : 54592745470 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

In the following question, select the missing number from the
given series.

20,10, 5, 2.5,1.25,7?

Options:



1. v 0.625
2. » 1056
3. % 1.32
4. % 1.58

Question Number : 20 Question Id : 54592745470 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

foasTTafe weat & & a8 g=elr & & ofcd 37k A Fifei0)

20, 10, 5, 2.5, 1.25, 7

Options:

1. v 0.625
2. = 10586
3. 1.32
4, = 1.58

Mental Ability2
Group Number : 2
Group Id: 5459272252
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
IsthisGroup for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Mental Ability?2
Section Id : 5459272252
Section Number : 1

Section type: Online



Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 5459272702
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 54592745471 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, select the missing number from the
given series.

355, 356, 360, 369, 385, ?
Options:

1. = 365
2. % 359
3. = 379
4. v 410

Question Number : 21 Question Id : 54592745471 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafafad wea & &1 a8 J@er A @ ofcd 3F AT RS0

3585, 356, 360, 369, 385, ?

Options:

1. = 365
2. = 359
3. = 379
4. v 410

Question Number : 22 Question Id : 54592745472 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



In the following question, select the missing number from the
given series.

61, 121, 241, 481, 961, ?

Options:

1. = 745
2.+ 1921
3. = 892
4. = 888

Question Number : 22 Question Id : 54592745472 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

foaatfafre weat & & a1 g=or & & ofcd 37 AT HIi0)

61, 121, 241, 481, 961, 7

Options:

1. = 745
2. v 1921
3. = 892
4. = 888

Question Number : 23 Question Id : 54592745473 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, select the missing number from the
given series.

11, 24, ?, 102, 206, 414

Options:

1. v 50
2. % 80



3. %199
4. % 398

Question Number : 23 Question Id : 54592745473 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

foasTiale weat & & a8 g@or & & ofvd 37k AT HIf0)

11, 24, ?, 102, 206, 414

Options:

1. v 50
2. = 86
3. = 199
4. = 398

Question Number : 24 Question Id : 54592745474 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, select the number which can be
placed at the sign of question mark (?) from the given
alternatives.

3 (2| |60
4 (5| 2 |40
2 8] B 4
Options:

1. = 120
2. v 80

3. %90
4, = 40

Question Number : 24 Question Id : 54592745474 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



ff@aa wead # Rw v [eredt & & wosd ”eg () &+
TAT 9T 3T dTell TEAT I AT

b-J

10 | 60
40

bJ

| N I S R

ool La
Lh
-J

Options:

1. = 120
2. v 80
3. = 90
4. = 40

Question Number : 25 Question Id : 54592745475 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, select the number which can be
placed at the sign of question mark (?) from the given
alternatives.

2 4 3
3 6 7
i 90 |11
13 | 33 s

Options:

1. = 60

2. % 64

3. % 65

4. v 67

Question Number : 25 Question Id : 54592745475 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



ff@aa wead # Rw v [eredt & & wosd ”eg () &+
TAT 9T 3T dTell TEAT I AT

()
o
(o'

o
-1

~1|
o

11
13| 33: | 2

Options:

1. = 60
2. » 64
3. » 65
4. v 67

Question Number : 26 Question Id : 54592745476 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, select the number which can be
placed at the sign of question mark (?) from the given
alternatives.

23 | 12 | 34
46 | 56 | 28
54 | 43 | 67
141120 ?

Options:

1. = 199
2. v 201
3. = 196
4. = 297

Question Number : 26 Question Id : 54592745476 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



ff@aa wead # Rw v [eredt & & wosd ”eg () &+
TAT 9T 3T dTell TEAT I AT

25 | 12| 34
46 | 56 | 28
54 | 43 | 67
1411120 ?

Options:

1. = 199
2. v 201
3. = 196
4. = 297

Question Number : 27 Question Id : 54592745477 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

By interchanging which two signs and two numbers the
equation will be correct?

3x9+8+2-5=9
Options:

1. = 2and 5, + and -
2.v8and 3, xand +
3. 2and 3, + and x
4. % 8and 3, x and -

Question Number : 27 Question Id : 54592745477 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



foreT @ TRIEAT TUT &Y TEATHT T 3T H W dgelad I
THTRLOT HEl &I AT

3x9+8+2-5=29

Options:

1. = 2 4T 5, + 94T -
2. v 8 ddr 3, X dUT +
3. % 2 9T 3, + TdAT X
4. = & AT 3, X AT -

Question Number : 28 Question Id : 54592745478 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If ‘P’ means “+°, ‘Q° means ‘', ‘R’ means " and ‘S’ means “<’,
then which of the following equation is incorrect?

Options:

1. » 382P4Q6R3>9
2. v SPT7S2Q4R2>7
3. = 12Q3R2P553>15
4. % 6Q2R5P253<5

Question Number : 28 Question Id : 54592745478 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

i ‘P’ T 3T ‘+, ‘Q FT HF ¢, ‘R’ &1 3T 2 JUT ‘S HT
T X g, ar Toieafoli™d # & Fid a1 GATRIT Tl el o7

Options:

1. = 352P4Q6R3>9
2. v SP7S2Q4R2>7
3. = 12Q3R2P553>15



4. = B6Q2R5P253<5

Question Number : 29 Question Id : 54592745479 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

f12@3@7=630and10@ 2 @5=336,then11@1 @3 =7

Options:

1. = 99

2. v 195
3. = 165
4. % 117

Question Number : 29 Question Id : 54592745479 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT 12@ 3@ 7 =630 10@ 2@ 5 =336 g, ar 11
@1@3="7

Options:

1. = 99
2. v 195
3. = 165
4. = 117

Question Number : 30 Question Id : 54592745480 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Identify the diagram that best represents the relationship
among the given classes.

Pen, Pencll, Stationary

Options:



oJe
1L O

Question Number : 30 Question Id : 54592745480 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

9% 3N Fiav S A RE e qail & = & qoe w1 HEY
fA®quT LT &

Uef, U8, SIEETHIT

Options:




oJe
0 - LO

Question Number : 31 Question Id : 54592745481 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Identify the diagram that best represents the relationship
among the given classes.

Water, White, Colour

=
@




@D
&

Question Number : 31 Question Id : 54592745481 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

dg 3T Iav ST & faw a1w gert o & % He T TET
fASIoT AT &

4 =

=
(@

9




&

Question Number : 32 Question Id : 54592745482 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Kis 2 km Southof L. L. is4 km east of M. M is 5 km west of N.
N is 3 km North of O. O is 3 km East of P. P is in which
direction from L?

Options:

1. = South
2. v South West
3.« West
4. = South East

Question Number : 32 Question Id : 54592745482 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

KL 2 ran. STEIoT H 81 L, M & 4 TR#T. 9@ & 81 M, N
FEFA IRTAAEIN, OF 3 AL A AE O, P+
3fRAL q@ H &1 P, L & Torg faem & &7

Options:

1. = af&ror

2. v EI&oT uieaH
3. » ufegH

4. = A&7 IT

Question Number : 33 Question Id : 54592745483 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Kamal goes 8 ki toward West. He then takes a right turn and
walks 3 km. He then takes a left turn and walks 5 km. He
then takes a right turn and walks 3 km. He then takes a left
turn and walks 15 km. In which direction is he from his
initial position?

Options:

1. = South
2. » South West
3. » West
4. v North West

Question Number : 33 Question Id : 54592745483 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A 8 fh.AL afead Hr 3 Torar &1 g O 20 J3a1 8
o1 3 foR. AL Tedar g1 a8 T 10 J3a1 § Jo1 5 &
ol &1 % T &0 Fsar & dur 3 for.all. =rerdr g1 ag e
ST¢ HBAT § 2T 15 T a1, <eldr &1 ag 319 TR Torer |
g feem & 87

Options:

1. = gf&ror
2. = TT&UT UTeTaH
3. » gfeaA
4. v 3cal UeTH

Question Number : 34 Question Id : 54592745484 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




In the following question, select the figure which can be
placed at the sign of question mark (?) from the given
alternatives.

v [52] I32[O] |
KO v|K] |

Options:

K
v

K|V
Q[

2
K

<[3%

~|ID

3.

~| <
>33 D3¢

v
2

Question Number : 34 Question Id : 54592745484 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



ff@aa wead # Rw v [eredt & & wosd ”eg () &+
TTel OT 3Tl dTell 3TRTd T AT

vix| x[Q] [QIK| K[V
KIQO|VIK| ||V |Q&]]|
[
Klwv
1. =
AIRX
2. K[V
V |3
3. ¢ KQ
V|38
. . A0

Question Number : 35 Question Id : 54592745485 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



In the following question, select the figure which can be
placed at the sign of question mark (?) from the given

alternatives.
—IHERIZ]

A ®

Options:

Question Number : 35 Question Id : 54592745485 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



ff@aa wead # Rw v [eredt & & wosd ”eg () &+
TTel OT 3Tl dTell 3TRTd T AT

=== ||=

@ A L] w

Options:

=]
=
B
=

Question Number : 36 Question Id : 54592745486 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, select the odd figure from the given
alternatives.

Options:



Question Number : 36 Question Id : 54592745486 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafelf@d gear A, fov arv fAsvedl & & faww 3mFfa A v

Options:




3. = st
) < (
4. v L —

Question Number : 37 Question Id : 54592745487 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

How many Quadrilateral are there in the given figure?

Options:

1.4
2.% 5
3.v0
4, % 8

Question Number : 37 Question Id : 54592745487 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

& a1 T 7 Reaer Tasler £2

Options:



1. = 4
2. % 5
3. v 6
4. = 8

Question Number : 38 Question Id : 54592745488 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

How many Triangles are there in the given figure?

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.
Options:

1.9

2.10
3.11
4. 12

Question Number : 38 Question Id : 54592745488 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



& a8 et A fraer P &2

Note: For this question, discrepancy is found in question/answer. So,this question isignored for all
candidates.
Options:

1. 9
2. 10
3. 11
4. 12

Question Number : 39 Question Id : 54592745489 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Three positions of a dice are given below. What will come
opposite to face containng 3'?

P @@

Options:

1.+4
2. %1
3.% 2
4, %6

Question Number : 39 Question Id : 54592745489 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



o Uk 9T T Al 3Eee’ & R &) 3 gFd eIk
fAaadia =41 3a?

P @ @

Options:

1. v 4
2. %
3. % 2
4. = 6

Question Number : 40 Question Id : 54592745490 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following cube can be formed?

PP QY

Options:

1. = IL, IIl and IV
2. = LIl and III
3.« LLIII and IV



4. v L1IIand IV

Question Number : 40 Question Id : 54592745490 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT Rad # & Sid TT O S Gehdl 57

Z
P|R|N|S

P P QY

1. = 1l, [ll gar IV

2. = |, Il ot |l
3. = |, Il T IV
4. v |, Il qar IV
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Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 54592745491 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The festival of the ‘Gurpuralby’ is celebrated by the people of
which religion?

Options:

1. * Buddhism
2. = Jainism

3. = Christianity
4. v Sikhsism

Question Number : 41 Question Id : 54592745491 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

& I FT AR hT g7 F HEIT ZgRT HAGT ST &7

Options:

1. » &g
2. % el

3. % 3HE
4. v @F

Question Number : 42 Question Id : 54592745492 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




Bhajan Soporl is associated for playing which musical
instrument?

Options:

1. v Santoor
2. = Veena
3. = Tabla
4. = Shehnal

Question Number : 42 Question Id : 54592745492 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FoTel AIONT Tohd dTed I HI Sollel & FaTdd g7

Options:

1. v O

o,

2. = drom
3. % d&ell
4. % UGS

Question Number : 43 Question Id : 54592745493 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The third day of ‘Pongal’ is celebrated as :

Options:

1. v Mattu Pongal

2. » Bhogl Pongal
3. » Thai Pongal
4. » Kaanum Pongal

Question Number : 43 Question Id : 54592745493 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

O9Tel T T Tgal F T H AATIT ATAT &I

Options:

1.@347%:%?»[




2. % ST TieTel
3. = UTE YiTel
4.&@%

Question Number : 44 Question Id : 54592745494 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

festival is celebrated as harvest festival in Northern
India.

Options:

1. v Baisakhi
2. = Bihu

3. » Onam
4. = Pongal

Question Number : 44 Question Id : 54592745494 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

F Scail AT H B Fls & ABR & &7 H HeIR
ST &

Options:

1. v SETET
2.« g

3. % A
4. % qiaTel

Question Number : 45 Question Id : 54592745495 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Money held by the Government in the trust is kept in :

Options:

1. = Consolidated Fund of India
2. = Contingency Fund of India



3. v Public Account
4, = National Fund

Question Number : 45 Question Id : 54592745495 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TR SdNT g6 H T a0 oo hl H TET STdAT &

Options:

1. = RO T AT hIV
« T hT 3TRTEHRaT fafer

2.
3. v ollsh ol
4. = T folfey

Question Number : 46 Question Id : 54592745496 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In which Financial Year, Performance Budget and Outcome
Budget presented by the Ministries individually were merged
with the General Budget?

Options:
1. = 2004 - 05
2. v 2007 - 08
3.+ 2014 - 15
4. % 2011 - 12

Question Number : 46 Question Id : 54592745496 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

forg facdi a¥ &, FATEET SaRT =FFAIT ¥ & TEdd R
T fAsuEa gl 3T 3BTFHA F9¢ T IJTH Soic & a1l Her
T =T ar?

Options:

1. = 2004 - 05




2. v 2007 - 08
3. = 2014 - 15
4. = 2011 - 12

Question Number : 47 Question Id : 54592745497 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following is mandated under Fiscal
Responsibility and Budget Management Act to be presented at
the time of Budget in Parliament in India?

Options:

1. » Finance Bill

2. = Qutcome Budget

3. v Macro Economic Framework Statement
4. = Expenditure Profile

Question Number : 47 Question Id : 54592745497 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TSATAcdT 3caiadcg MR soie vy Mfafaad & dga arRd
H TWe # Folc Wdd d TAY fdeafafad & @ Fr g
FLAT TR §7

Options:

1. = Aca 9T+
2. ® H3CHhHA &aC

3. v §5g 3T @ faawor
4. = =TT HT T @

Question Number : 48 Question Id : 54592745498 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Sea Anemone belongs to which of the following groups?

Options:



1. v Coelenterata

2. = Platyhelminthes
3. = Porifera

4. = Bryophyta

Question Number : 48 Question Id : 54592745498 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HAGT Teatdlie (Valtdter) feifeiad # & fod daqg @ d@efad
X

Options:

1. v Hreleedar
2. = ColdgTereais
3. = ORI
4.

* SIS

Question Number : 49 Question Id : 54592745499 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Plants with weak stems that take support on neighbouring
structures are called

Options:

1. v Climbers
2. = {reepers
3. = Herbs

4. = Shrubs

Question Number : 49 Question Id : 54592745499 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AL da dlel G ST T & =T FT GATT ofd &, 3o

el ST ol

Options:



« Tagdl odr

HIED

% FTST

Question Number : 50 Question Id : 54592745500 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A current through a vertical power line flows in North to
South direction. What is the direction of magnetic field
directly at a point right of it?

Options:

1. » North to South
2. » South to North
3. = East to West
4. v West to East

ol
#®

Question Number : 50 Question Id : 54592745500 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ueh Feared orfed TRUT gl (YT oisd) # 3cad & areyor
feerr & faega unr warfgd &1 W@ &1 T8+ UeheH a8 3N TR
forg oX <qerehrr &1 v feem F7 87

Options:

1. * 3cad & E&oT
2. % ZIATOT H 3ccd
3. » g & uieTH
4.%%?‘5@

Question Number : 51 Question Id : 54592745501 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



On passing of hydrogen gas through heated copper oxide, the
black material turns

Options:

1. = Blue
2. » Grey
3. v Brown
4. = Red

Question Number : 51 Question Id : 54592745501 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ueh ITH hI9T HFASS & BIS3Iolel 3G TaIad I ST dl,
Tl TSI al ST &l

Options:

1. = AT
2.%%13:!1'

3. v &
4, = olTel

Question Number : 52 Question Id : 54592745502 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following is not a natural indicator to test
whether a solution is acidic or basic?

Options:

1. = Litmus

2. = Cabbage leaves
3. v Methyl orange
4. = Turmeric

Question Number : 52 Question Id : 54592745502 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Teh [derdel 37Fel AT &Rk g, *l Sd e & folv i@
H & HisT Teh Whiceh Heh o8l &7

Options:

1. = Tolcag

2. = Tcdr sl & Ucd
3. v AT 3RS

4. = Beor

Question Number : 53 Question Id : 54592745503 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The image formed by a concave mirror is real, inverted and
highly enlarged. What is the position of the image?

Options:

1. = At focus
2. v At Infinity

3. = Behind the mirror
4. = At centre of curvature

Question Number : 53 Question Id : 54592745503 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Hadel GUUT G@RT SellU T Uidiee 1 FTT&Y T Ideh, 3ol
Jar Fcarg+ aafaa g1 e Fr Fuafa a7 §7

Options:

1. = IFH W

2. v 3dd 9T
3. % ZUUT & Ui

4. = Thdl hg T

Question Number : 54 Question Id : 54592745504 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



In the process of dilution of concentrated nitric acid,

Options:

1. = water Is added to the acid in one go

2. » acid is added to water in one go

3. » water is added slowly to acid

4. v acid is added slowly to water with constant stirring

Question Number : 54 Question Id : 54592745504 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

g, AT3Teh 3Fel & TRIOT hT TRl A |

Options:

1. = Uil Uk g7 X & 31Fel & 37el f&am e &

2. % 3Fcl Ueh & 9 H Uil H STel feA7 SIam &

3. = UTaT 9R-4R 3Fer # AT Jar §

4. v 3F GR-AR o gor qreir A TAeT ST #

Question Number : 55 Question Id : 54592745505 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which mirror is used in solar furnaces?

Options:

1. » Plane mirror

2. = Convex mirror
3. v Concave mirror
4. = Spherical mirror

Question Number : 55 Question Id : 54592745505 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

giv #1fzat & g o 1 Iu=ner ToRar Srar &7

Options:

1. * THJS ZU0T
2. % 3cdel Ul



3. v 3add UoT
4. = T gUT

Question Number : 56 Question Id : 54592745506 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following isfare direct cause(s) of river pollution?

I - Heavy City Traffic
IT - Industrial Effluents
III - Untreated sewage

Options:

1. = I, II and III
2. » Iand III
3.=Tand Il

4. v II and III

Question Number : 56 Question Id : 54592745506 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fAFATeT=T # & T 4T YSNUT Flfh TcI&T HHOT &/ 872

| - oiglr # oY ¢RheR
Il - 3EANFEr varg

Il - 3Te TR grigdHe/arast

Options:
1. = |, I 2
2. = | qur lll
3. = | ar |l
4. v |l Tt

Question Number : 57 Question Id : 54592745507 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

Chindwin River is in which country?

Options:

1. = Bangladesh
2. v Myanmar
3. » Nepal

4. = Bhutan

Question Number : 57 Question Id : 54592745507 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

RIecide =&y fhe dor 7 87

1p.waﬁ?~r|2‘\%r
2. v HTANR
3. = ATl
4. = #cTel

Question Number : 58 Question Id : 54592745508 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The valley of 1s situated between the Satpuras and the
Vindhyas.

Options:

1. ¥ Narmada
2. » Ganga
3. » Krishna

4. = Kaveri

Question Number : 58 Question Id : 54592745508 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

_ T e IdYET 3R 9e & O Rud g

Options:



1. v &I

2. % AT
3. % UM

4, = FIAT

Question Number : 59 Question Id : 54592745509 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

mountains are created when large areas are broken
and displaced vertically.

Options:

1. = Fold

2. » Volcanic
3. v Block

4. = Residual

Question Number : 59 Question Id : 54592745509 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SIS 3 AN ¢¢ S § 3N 3wl &9 & foeiug & o &

ar Tdd Seld &l
Options:

1. = gferd

2. = cdlolldgeﬂrﬁq

3. v selleh
4. % 3RS

Question Number : 60 Question Id : 54592745510 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Mariana Trench, the deepest part of the Earth lies in which
ocean?

Options:



1. = Arctic Ocean
2. » Atlantic Ocean
3. v Pacific Ocean
4. = Indian Ocean

Question Number : 60 Question Id : 54592745510 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

gedl o g I T&edn, ATRATT 0 v AgRR & e
87

Options:

1. % 3Ricsh HBMNN
2. % 3collicer HEERER
3. v Wed ASNER

4. = 788 AZHERR
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Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
IsthisGroup for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

General Awareness2

Section Id : 5459272254
Section Number : 1

Section type: Online
Mandatory or Optional: Mandatory

Number of Questions: 20



Number of Questionsto be attempted: 20

Section Marks:; 20
Sub-Section Number: 1
Sub-Section Id: 5459272704
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 54592745511 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following is a freshwater lake?

Options:

1. v Wular lake
2. » Sambhar lake
3. = Chilika lake
4. » Pulicat lake

Question Number : 61 Question Id : 54592745511 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frafeT=&T # @ i TT Tk HIS Tl @l STl 67

Options:

1. v gorT Srel
2. % HIHT Frel
3. = T=IeeRT Sirer
4. = giclshe el

Question Number : 62 Question Id : 54592745512 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following is the birth place of Gautama Buddha?

Options:

1. = Kushinagar
2. = Bodh Gaya
3. » Sarnath
4. v Lumbini



Question Number : 62 Question Id : 54592745512 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafai@d & @ &l @1 MAA & FT FTod T g7

Options:

1.w§%ﬁmw
2. = S AT
3. * AT
4. v ATESAT

0

Question Number : 63 Question Id : 54592745513 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In which year did the East India Company acquire a charter
from the Queen granting sole right to trade with the East?

Options:

1. = 1717
2. % 1700
3. = 1616
4. v 1600

Question Number : 63 Question Id : 54592745513 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ST SISAT FY6l o 0 & 1Y IR Fel FT THATT HTUFR
3ot arelT AT e F forg a¥ & uread foRam ar?

Options:

1.« 1717
2. = 1700
3. = 1616
4. v 1600

Question Number : 64 Question Id : 54592745514 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

‘Viharas’ and “Chaityas’ belong to architecture.

Options:

1. » Hindu

2. = Mughal

3. = Indo-Islamic
4. v Buddhist

Question Number : 64 Question Id : 54592745514 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TR 3R I qrEhell & TS g

Options:

1.« Ry

® HITel

N

2.
3. = SEI-STAIHD
4. v qig

Question Number : 65 Question Id : 54592745515 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following king built Sanchi Stupa?

Options:

1. = Chandragupta Maurya
2. v Ashoka

3. » Akbar
4. » Samudragupta

Question Number : 65 Question Id : 54592745515 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fArfoid A & fhg Tom & 9l T 7 f@ATT FwIarm oar?

Options:

1.&%@@34‘?2?



2. v 3T¢Teh
3. % 3hal

4. = OHGICA
i R

Question Number : 66 Question Id : 54592745516 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Most of the Ashokan inscriptions were written in
scripts.

Options:

1. = Devanagari and Tamil
2. = Sarada and Nagari

3. » Tamil and Indus

4. v Brahmi and Kharosthi

Question Number : 66 Question Id : 54592745516 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3elleh o 37Tt Telerelar Tefoar & forg 9w )

Options:

1. = S@aRENT 3N affer
2. = GNET 3T APHY
3. = dffer 3k Ay
4. v FEAT 3T TS

Question Number : 67 Question Id : 54592745517 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who was made the Nawab of Bengal after the defeat of Siraj
ud-Daulah in Battle of Plassey?

Options:

1. = Alivardi Khan
2. v Mir Jafar



3. » Shuja ud-Daulah
4. = Murshid Quli Khan

Question Number : 67 Question Id : 54592745517 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tl % Ig A RTST 3g-Slelr &I gR k d1e Tha SaTTel
adTs ST I=™AT AT?

Options:

1. = 3Telladl Fel
2. v AR STHT

3. = ST 3&-glel
4. = #ARIE Fell T

Question Number : 68 Question Id : 54592745518 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following author won 54th ‘Jnanpith Award’?

Options:

1. = Shashi Tharoor
2. = Amish Tripathi
3. » Arundhati Roy
4. v Amitav Ghosh

Question Number : 68 Question Id : 54592745518 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AIlelEaa A7 & sid @ olEgs o 54 a7 ATdUIS TR ST
&7

Options:

1. = 9Ty o=
2. = AW Furdr
3. » 3%yl T




4. v MATT 99

Question Number : 69 Question Id : 54592745519 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

A Commemorative postage stamp has been released in
December 2018 on which of the following personality
assocliated with the Champaran Satyagraha?

Options:

1. = Pir Muhammad Munis
2. » Shaikh Gulab

3. = Sheikh Rajab Ali

4. v Raj Kumar Shukla

Question Number : 69 Question Id : 54592745519 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

feds 2018 # <FINOT g & 53 oeaifoiad # @ |
egiFdcag U Ush TAYUIY STk e SIRT 3T 1T &7

Options:

1. » 9 HEFAS Ha
2.&%1@3;3113
3. % G AT el

4, v T FHAN <Fdl
o P

Question Number : 70 Question Id : 54592745520 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

NASA is planning to send its ‘Dragonfly’ drone to Titan .Titan
is a moon of

Options:

1. = Jupiter
2. » Mars
3. ¥ Saturn



4. = Neptune

Question Number : 70 Question Id : 54592745520 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ATHT 39l 'SITTFeTS 3ol il cScd 9T Holal hl Jlofall el
I&T gl TIsee IE T oAl &l

Options:
1p. % FEEAT
2. % HITS
3. v efel
4. » AU

o,

Question Number : 71 Question Id : 54592745521 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Seven Mega Missions' has been announced by which of the
following space agency?

Options:

1. v ISRO

2. » NASA

3. = ROSCOSMOS
4, = JAXA

Question Number : 71 Question Id : 54592745521 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

"HIT HIM THRIET hT SN0 Tohd 3TTNE Toldl o T &7

Options:

1. v &

2. % oTET
3. % UTGhITAT
4



Question Number : 72 Question Id : 54592745522 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the name of the new co-authored book, by Vinit
Goenka launched in June 2019?

Options:

1. v Function of Data Sovereignty — The Pursuit of Supermacy
2. = Data Colonisation

3. » Reclaim Your Sovereignty

4. = Freedom of the Will

Question Number : 72 Question Id : 54592745522 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

I 2019 A vAIRIT faeiid angeaerT oarT dg-faRad @5 qedeh

T ATH FIT §7

1p.gdﬁsma‘mmmﬁ—wtaﬁ§q@ﬁr
2. % BT hlellleTdered

3. » NrelAgic Araigeer

4. = WIEH 31w I e

Question Number : 73 Question Id : 54592745523 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who is the author of the book ‘Cricket World Cup : The Indian
Challenge’?

Options:

1. = Harsha Bhogle
2. » Gaurav Kapoor
3. v Ashis Ray

4. = Ravi Shastri

Question Number : 73 Question Id : 54592745523 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

Tohehe Te8 o9 : G S18del Yool Tohdld o ol hid g7

Options:

1. = BYT #7l4rel
2. % T FI
3. v MY 3

4, = T emET

Question Number : 74 Question Id : 54592745524 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Uniform Civil Code is given under which Article of the Indian
Constitution?

Options:

1. = Article 24
2. » Article 42
3. = Article 45
4. v Article 44

Question Number : 74 Question Id : 54592745524 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ush HAT el Hfgar SR dfauT & R efese &
J&d &I AT &7

Options:

1. = 3felxade 24
2. = 3Ieag 42
3. = 3T 45
4.&?31@1:»_&3-?[44

Question Number : 75 Question Id : 54592745525 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




Which of the following word is mentioned in the Preamble to
the Constitution?

Options:

1. = Solidarity
2. = Responsible
3. = Autocratic
4. v Justice

Question Number : 75 Question Id : 54592745525 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

GiadTel hr uEa@er A faeroliEd & O Fg s &1 Jool@ &7

Options:

1.*?@33?”

2. % 3cdlar
3. » folper
4 v A

Question Number : 76 Question Id : 54592745526 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fisheries as a subject is mentioned in which list?

Options:

1. » Union List

2. v State List

3. = Concurrent List

4. = Both Union and Concurrent Lists

Question Number : 76 Question Id : 54592745526 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ACEY TTelel <hiel &1 T H 37T &7

Options:

1. » |g gr




2. v T=T T
3. » A T
4. » GO JAT GHAC Sl T

Question Number : 77 Question Id : 54592745527 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The President of India holds office for a term of

Options:

1. = Four
2. v Five
3. = Six

4, = Seven

Question Number : 77 Question Id : 54592745527 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

T o IMSCUTT T FHIARTA gy T gIaT g

Options:

1. = AT

2. v U

3. = BF
4. « AT

Question Number : 78 Question Id : 54592745528 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following is not an Olympic sport?

Options:

1. = Polo

2. v Cricket

3. » Rowing
4. = Football

years.



Question Number : 78 Question Id : 54592745528 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TiFeiTold # & hiel &1 Teh 3iTolTUsh Tol wA&T &7

Options:

1. = 9ol
2. v Torehe
3. = [gar

4.*3%3‘1%{

Question Number : 79 Question Id : 54592745529 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which Indian footballer surpassed Lionel Messi and became
2nd most prolific goal scorer in a national football team?

Options:

1. = Robin Singh

2. v Sunil Chhetri

3. = Gurpreet Singh Sandhu
4. = Sandesh Jhingan

Question Number : 79 Question Id : 54592745529 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

il T ARAT Bedlol ATHT I IS BIF Teh AT FHedlol
A A HafeT el Fel grell SEU TSl Fer?

Options:

1. % JTeel 8

2. Jﬂ?ﬁﬁﬁ'

3. = IUTT g A@Y

4. = geaer =Bara

Question Number : 80 Question Id : 54592745530 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Who among the following won the ‘Golden Bat’ for scoring
maximum runs in the ICC World Cup 20197

Options:

1. » Shakib Al Hasan
2. » Kane Williamson
3. = David Warner
4. v Rohit Sharma

Question Number : 80 Question Id : 54592745530 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

2019 & ICC T&eg &9 # farafe@a A & forgs fUead &
Fellal & oI ‘AMegd ST SIdT?

Options:

1. = eNTohe 37l &
2. % hel TAfelgdTeT
3. = 38 g
4. v QT AT

Arithmetic Ability1
Group Number : 5
Group Id: 5459272255
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
Isthis Group for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

Arithmetic Ability1



Section 1d : 5459272255

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 5459272705
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 54592745531 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the value of 45 x (1/6) + (4/3) — (15/4) + (17/8)?

Options:

1. = 5/8
2. % 4{15
3. % 12
4. -4

Question Number : 81 Question Id : 54592745531 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

45 x (1/6) + (4/3) - (15/4) + (17/8) FT HT FAT &7

Options:

1. = 5/8
2. = 4115
3. % 12
4. v 4

Question Number : 82 Question Id : 54592745532 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The product of two numbers is 18900 and their Highest
Common Factor 1s 30. What 1s the Least Common Multiple of
these numbers?

Options:



1. = 840
2. % 720
3. v 630
4. = 750

Question Number : 82 Question Id : 54592745532 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

al HEAT3T T AUTAHe 18900 & TUT 3eTohl HEcH THTIGI

30 &1 Fo TEII3T FT FLcdA FATIGT FT &7

Options:

1. = 840
2. = 720
3. v 630
4. = 750

Question Number : 83 Question Id : 54592745533 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

1 1
What is the value of SX?XS : 7‘"‘?“7 .
S S o
25 35 72
Options:
1. = 2/7
2. v 2/35
3.« 7/5
4 = 1/35

Question Number : 83 Question Id : 54592745533 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

1 1
5x5x5 TKTXTHW@T?‘?
1 1 1

25 35 72



Options:

1. = 2/7
2. v 2135
3. = /15
4. = 1/35

Question Number : 84 Question Id : 54592745534 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Wkt ic this vahia Df[12><12><12+18><18><]E+15><]5><]5—3><]2><]E><]5Jr}
45

Options:

1. » 36
2.v 27
3. = 90
4. % 45

Question Number : 84 Question Id : 54592745534 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

(]2><]2><12+]E><IE><13+15><15><]5—3><12><13><]5

= Jﬁrmwé‘?

Options:

1. = 36
2. v 27
3. = 90
4. » 45

Question Number : 85 Question Id : 54592745535 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

4 1 1 1 15
What is the value of —+| — = ——-2 | ——x—2?
Q X T 3 9

Options:



1. = 2
2.% 3
3.+17/9
4. = 314

Question Number : 85 Question Id : 54592745535 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

4 (1 1 1 15
—+(—+——2J—§xgﬁrmmé‘?

Options:

1. = 2
2. % 3
3. v 1719
4. = 3/14

Question Number : 86 Question Id : 54592745536 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the value of [% + i T MJ e =

% 25 125

a

1276

Options:

1. = 1/80
2. v 1/20
3. = 100
4 %1

Question Number : 86 Question Id : 54592745536 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A ) e T AT FT 22
5 25 125) 1276

Options:

1. = 1/80



2. v 1120
3. = 100
4. = 1

Question Number : 87 Question Id : 54592745537 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3 8 56 3
What is the value of E+(—;——_]

49
: it 7
25 15 5

25
Options:

1. » -0.872
2.v—0.933
3. = 0.933
4. % 0.872

Question Number : 87 Question Id : 54592745537 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3 (8 56 3) 49
Sl e e T AT T 37
40 25

Options:

1. = -0.872
2. v -0.933
3. = 0.933
4. = 0.872

Question Number : 88 Question Id : 54592745538 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

‘What is the value of 1g+i _Exi_l?
12} 35 48 15

Options:

1. = 893/1000
2. v 1097/60



3.%1201/48
4. = 1199/23

Question Number : 88 Question Id : 54592745538 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

el —Exi_lﬂmmﬁ‘?
12) 35 48 15

Options:

1. = 893/1000
2. v 1097/60
3. = 1201/48
4. = 1199/23

Question Number : 89 Question Id : 54592745539 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the value of l+l 2l l_f +§><E?
3 4 g 2 Q0 2

Options:

1. = 1/96
2. v 124/45
3. =% 3/64
4. = 56/125

Question Number : 89 Question Id : 54592745539 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

[LlHLz}ﬁxgﬂ e = 2

3 4 g 2] 9

Options:

1. = 1/96
2. v 124/45
3. = 3/64



4. = 56/125

Question Number : 90 Question Id : 54592745540 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

|| 9 115 36
What is the valueof ' +——| — x— [+ —7
8 45 46 54 5

Options:

1. = 945/2

2. v 2543/360
3. % 1120/81
4. = 2216/491

Question Number : 90 Question Id : 54592745540 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

LN e B B C R R
8 45 \46 54 ) 5

Options:

1. = 945/2

2. v 2543/360
3. = 1120/81

4. = 2216/491

Question Number : 91 Question Id : 54592745541 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The average weight of a group of 30 persons is 50 kg. The
average weight of another group of 50 persons is K kg. If the
average weight of all the 80 persons is 40 kg, then what is the
value of K?

Options:

1. = 45
2.v 34
3. = 40



4. % 38

Question Number : 91 Question Id : 54592745541 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

30 =fFal & U THg 1 3T 7 50 fmam &1 50
STl o gEY THG 1 Aad H K fham &1 Iie a#ir 80
=Tkl T AET 9T 40 AT &, ar K T AT 37 &7

Options:

1. = 45
2. v 34
3. = 40
4. = 38

Question Number : 92 Question Id : 54592745542 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The profit earned on selling an article is twice the value of
discount given. If the profit earned is 60% of the marked
price, then discount given is what percent of the cost price?

Options:

1. » 33.33 percent
2. v 300 percent
3. = 100 percent
4. = 30 percent

Question Number : 92 Question Id : 54592745542 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Uk T PRI S<lel W FAIT IGT AT & 5 T F AT I
AT §1 IfE AR T Wt 3R Hew w1 60% F, ar &
IS B T Hod HI Tohcair ulcerd &7

Options:




1. = 33.33 gfaera
2. v 300 wfaerd
3. = 100 wfaera
4. % 30 wfaerd

Question Number : 93 Question Id : 54592745543 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A person purchases 9 identical chairs of equal cost price.
Marked price of each chair is 25% more than the cost price.
He gave 10% discount on 3 chairs, 20% discount on 4 chairs
and 15% discount on the remaining chairs. What is the total
profit percent?

Options:

1. = 8 percent

2. % 10 percent
3. v 5.55 percent
4. = 9.09 percent

Question Number : 93 Question Id : 54592745543 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

sk e AT T Hed dlell Tk ST 9 FART Tledr &
mﬁchl 3fehd Hed, 7T Hed & 25% 3179 §1 I8 3
aﬁa’rqﬂo%mm% 4 FEAT T 20% Fe 3T & T
aTGraﬁa’quw%a—daaTﬁwmqﬁvmw%?

Options:

1. = 8 yfaerd
2. = 10 ufdera
3. v 5.55 yfqaera




4. = 9.09 gfdera

Question Number : 94 Question Id : 54592745544 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

What should be added to 35% of 420 so that the obtained
number becomes equal to 25% of 600?

Options:

1. =0
2.v 3
3.%1
4, % 2

Question Number : 94 Question Id : 54592745544 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

420 & 35% H FIT FIST AT AET oad & ured &3 600
& 25% & HHTT & IATT?

Options:

1. = 0
2. v 3
3. % 1
4, = 2

Question Number : 95 Question Id : 54592745545 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Rohan’s income is 150% of Deepak’s income and Deepak’s
income is 50% of Ritik’s income. Rohan’s income is what

percent of 20% of combined income of Deepak and Ritik?

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:

1. 200 percent
2. 220 percent



3. 240 percent
4. 150 percent

Question Number : 95 Question Id : 54592745545 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

NEeT hT 3T, AITh shT 3T kT 150% & TAT SI9eh hT 37,
Rfas 1 3= Fr 50% &1 Vg FT 3=, a9 Jar Rias Fr
HIFT 3T & 20% HT Foreterr ufcrera &7

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:

1. 200 wfererd
2. 220 wfcrerd
3. 240 wfcerd
4. 150 wfcrerd

Question Number : 96 Question Id : 54592745546 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A bag contains 600 pens of blue ink and 1200 pens of red ink.
If 20% of blue Ink pens are removed and 50% of red ink pens
are removed, then what percent pens of initial number of
pens are left in the bag?

Options:

1. = 70 percent
2. 50 percent
3. v 60 percent
4. = 75 percent

Question Number : 96 Question Id : 54592745546 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Tk ot H el TTET o 600 U JAT &Tel TITEr & 1200 O &
| Ifg el TET & 20% U 34T T feu I & Jor el
TITET o 50% el 37697 Y U ard &, o der & dar hr
ﬁﬁ@*&&ql#ﬁﬂﬁmmﬁﬁaﬁ??@

Options:

1. = 70 gfaera
2. = 50 gfaera
3. v 60 gfcrerd
4, = 75 gfaerd

Question Number : 97 Question Id : 54592745547 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Selling price of an article is Rs. 900 and profit percentage is
12.5%. What is the cost price of the article?

Options:

1. = Rs. 880
2. » Rs. 1000
3. v Rs. 800
4. » Rs. 990

Question Number : 97 Question Id : 54592745547 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ush gE T ORI Hed 900 T § AT ot fderd 12.5% B
JE] FT FT Hed F1 a7

Options:

1. = 880 39
2. = 1000 ¥9
3. v 800 ®9&




4. = 990 UL

Question Number : 98 Question Id : 54592745548 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

The profit earned on selling an article for Rs. 1600 is 10 times
of the loss incurred on selling the same article for Rs. 1380.
What is the selling price of the article to earn a profit of 20%?

Options:

1. » Rs. 1560
2. * Rs. 1600
3. v Rs. 1680
4. % Rs. 1580

Question Number : 98 Question Id : 54592745548 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ueh q+gﬁ1eoomﬁmw§m oITeT, THTST TE] HI
13803@3&3?1?1:1?;3‘%31%%10@?“ 20% T oI
FAT & U aTg FT [OhT Jed FT 87

Options:

1. % 1560 ¥9
2. = 1600 39
3. v 1680 z9d
4. = 1580 ¥II

Question Number : 99 Question Id : 54592745549 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The ratio of cost price of first, second and third articleis 2 : 5:
3 respectively. If first article is sold at 20% profit, second at
6% profit and the third at 15% loss, then what is the overall
profit/loss percent?

Options:



1. = 11 percent, loss

2. = 6 percent, profit
3. v 2.5 percent, profit
4. = No profit No loss

Question Number : 99 Question Id : 54592745549 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ugell, GERT AT T S & R Hed HT U HAT 2
5: 3 ¥l Ife ugell a& H 20% F o 9T GEdl I 6% +
AT I AT TG S 15% T &lfer 9T ST 71 %,FIT;W
/eI uicera 4T 87

Options:

1. = 11 wfaerd, gifa
2. = 6 yicrerd, «meT

3. v 2.5 gfaera, o
4. = T AT AT &ITeT

Question Number : 100 Question Id : 54592745550 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ifa:b=2:5andb:c=4:3, then whatis the valueofa:b:c?

Options:

1.+ 8:20:15
2. % 8:12:15
3.53:4:5

4. % 8:15:21

Question Number : 100 Question Id : 54592745550 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

g a:b=2:5adumb:c=4:38% dra:b:crAA
T 87



Options:

1. v

8
2 8
3.« 3:4:95
4, = 8

Group Number :

Group Id:

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group?:
Edit Attended Group? :
Break time:

Group Marks:

IsthisGroup for Examiner?:

Revisit allowed for group Instructions? :

Maximum Instruction Time:
Minimum Instruction Time:

Section Id :

Section Number :
Section type:
Mandatory or Optional:
Number of Questions;

15
15

: 15 @ 21

Number of Questionsto be attempted:

Section Marks:

Sub-Section Number:
Sub-Section | d:
Question Shuffling Allowed :

Arithmetic Ability2

6
5459272256
0

0
No
No
0
20
No
Yes
0

0

Arithmetic Ability2

5459272256
1

Online
Mandatory
20

20

20

1
5459272706
Yes

Question Number : 101 Question Id : 54592745551 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The expenditure and savings of a person are in ratio of 3 : 2.
His savings increase by 1/6 of his income and income remains
the same. What is the new ratio of his expenditure and
savings?

Options:

1. = 18 :17
2.%x4:3

3.+v13:17
4. %9:13

Question Number : 101 Question Id : 54592745551 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ueh STkl ST oA T §&c 3 @ 2 o 3efdled H §| HeRT el
3Rl 3T o 1/6 | §¢ Sdr § JdUT 3T AT Bl &l 38
I qUT ST FT AT I F2] a7

Options:

1. = 18 : 17
2. % 4.3

3. v 13 : 17
4. = 9 : 13

Question Number : 102 Question Id : 54592745552 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The respective ratio of the expenditure and savings of a
person is 5 : 2. His expenditure increases by 1/7 of his savings
and his income increases by Rs. 20. If his savings remains the
same, then what is his initial expenditure?

Options:

1. = Rs. 420
2. % Rs. 370



3. v Rs. 350
4. = Rs. 400

Question Number : 102 Question Id : 54592745552 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Uk STl T SFY TAT ST KT AT AT 5 @ 2 &1 3HRI
ST 3T S0 o 1/7 & §¢ AAdT § JdAT 38l 3T 20 39
g 9¢ Sdr &1 IS 3Henl Sd ATATT I&dT &, dl 3Tl URTHE

ST AT g7

Options:

1. = 420 392
2. = 370 39
3. v 350 39
4. = 400 T

Question Number : 103 Question Id : 54592745553 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A sum becomes double of itself in 2 years at the rate of simple
interest. In how many years it will become 4 times of itself?

Options:

1. v 6 years
2. % 8 years
3. % 7 years
4. % 3 years

Question Number : 103 Question 1d : 54592745553 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ueh TR HTUROT SATST &1 & & 2 g% H F&F H aRLar 8l
ST &1 frcer gt # a8 T Fr 4 I g e

Options:




1. v 6 @Y
2. = 8 dy
3. % 7 @y
4, = 5 ¥

Question Number : 104 Question 1d : 54592745554 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A certain sum gives Rs. 8640 as the compound interest
(compounding annually) at the rate of 20% per annum at the

end of 3 years. What is that sum?

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:

1. Rs. 4500
2. Rs. 4800
3. Rs. 5000
4. Rs. 5200

Question Number : 104 Question 1d : 54592745554 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

v faAfRad UM 3 a¥ & 31 # 20% qfda¥ &7 & 8§ THhal4
AT (T Ao W) & T H 8640 T9 2r &1 gg ufer
AT &7

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:

1. 4500 &9
2. 4800 ¥
3. 5000 ¥9
4. 5200 9




Question Number : 105 Question Id : 54592745555 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Rs. 3172 i1s divided into 3 parts and each part is kept at the
rate of 5% per annum on simple interest for 2, 3 and 4 years
respectively. The amount received after the respective time
periods on each part is equal. How much money is kept for 2

years on simple interest?

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:

1. Rs. 1464
2. Rs. 1056
3. Rs. 1012
4. Rs. 1348

Question Number : 105 Question 1d : 54592745555 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3172 T9A &l 3 ARN & THoT har =T § aur acdss 19
F 5% Ul ¥ T a7 F FwAT: 2, 3 TAUT 4 W * fow
HTROT ATl YT TET 3T &1 Tedeh HIET I shAT: HHI
TR o TR T T IR eI AT &1 2 g9 & fow
ATIROT sATeT YT Tohclall TTer AT =T &7

Note: For this question, discrepancy is found in question/answer. So,this question isignored for all
candidates.
Options:

1. 1464 392
2. 1056 &9
3. 1012 ¥
4. 1348 9

Question Number : 106 Question Id : 54592745556 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A man goes at a speed of 250 m/s. How many minutes will he
take to cover a distance of 15000 metres?

Options:

1.+1
2.% 1.5
3. % 2
4. % 0.8

Question Number : 106 Question 1d : 54592745556 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Uk =gTd 250 AL, FT afa & Srar g1 & 15000 AT Hr
T T T # T Tohcda et o

Options:

1. ¢ 1
2. = 1.5
3. % 2
4. = 0.8

Question Number : 107 Question Id : 54592745557 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The speed of a boat in upstream is 4 km/hr and the speed of
stream is 2 km/hr. The boat covers a distance of X km in
upstream and x km in downstream. If the total time taken by
the boat 1s 6 hours, then what is the value of x?

Options:

1. =12
2. % 18
3.v16
4. % 20



Question Number : 107 Question Id : 54592745557 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ueh ofid hr 3Tl NI & Ufdehel 4 foh.AT./EET & ToT aRT T

aifer 2 ferAr/eer &1 aa anT & ufdeher x fRAL dqor amr &
feppel x forAL gt a7 FIT &1 I A1g g@ry forar s Fa
TAT 6 T &, ar x kT HATeT T &7

Options:

1. = 12
2. = 18
3. v 16
4. = 20

Question Number : 108 Question Id : 54592745558 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A boat travels in upstream from point A to B for 3 hours and
travels in downstream from point B to C for next 3 hours. If
the distance between points A and C is 42 km, then what is
the speed of the boat in still water?

Options:

1. v 7 km/hr

2. » 18 km/hr
3. % 12 kmm/hr
4. = 15 km/hr

Question Number : 108 Question Id : 54592745558 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Uk AT foig A @ B T 3 6 & AT 9rT & uidsher A
FIAT § TAT GRT F 3Helhel 37T 3 € & folw g B & C
ek IMET AT B I oG A Tur C F ey 7 gfr 42 TR
&, or T oo & @ Fr afa w2 §7




Options:

1. v 7 Th.A/EeT
2. = 18 fer.AT./eeT
3. % 12 feh.#AT/eer
4. = 15 for.AT./eeT

Question Number : 109 Question Id : 54592745559 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A can do a piece of work in 44 days. What fraction of the total
work can be done by A in 12 days?

Options:

1. = 2/11
2. = 4/11
3.+ 3/11
4. = 5/11

Question Number : 109 Question Id : 54592745559 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A T ST T 44 &t # G FT Fehar &1 12 Tt # A g@RT

Fo S T TohcdalT HET ThAT AT FhdT &7

Options:

1. = 211
2. = 4111
3. v 311
4. = 511

Question Number : 110 Question Id : 54592745560 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A and B can complete a work in 16 days and B and C can
complete it in 20 days. If A, B and C all work together, the
work gets completed in 10 days. How many days do A and C
together take to complete the work?

Options:

1. = 78f7 days
2. = 87f7 days
3. = 65/7 days
4. v 80f7 days

Question Number : 110 Question Id : 54592745560 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A TAT B U FF HT 16 el H T T Fehd &, B d2r1 C 38
20 f&of A T T Fha &1 IlT A, B 7 C el Ao g4
FR B FLA g, d PRI 10 TGt H [ IR—¥Im A J24T C

T2l AR FRT FI FATCT o A Thde & o

Options:

1. = 787 faa
2. % 87/7 feaT
3. % 65/7 feat
4. v 8017 feat

Question Number : 111 Question Id : 54592745561 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Rina, Mina and Tina work for 5, 6 and 8 days respectively and
they together get Rs. 360 for their work. If the ratio of one day
work of Rina, Mina and Tina is 2 : 1 : 3, then how much
money does Mina get?

Options:

1. = Rs. 90



2. v Rs. 54
3. %= Rs. 72
4, = Rs. 60

Question Number : 111 Question Id : 54592745561 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

a1, AT TUT EAT FRT T FAA: 5, 6 gAT 8 g F v
FRT F{d & TJAT T 360 T uTea hid &1 Il $ar, A gar
AT & Ueh foeT O HRT KT e[ 2 1 1 : 3§, A Hielr wr
fordsl 39 e &7

Options:

1. = 90 U
2. v 54 39
3. = 72 3
4. = 60 T}

Question Number : 112 Question Id : 54592745562 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The length of the side of a hexagon is 4 cm. What is the area
of the hexagon?

Options:
1. = 12V3 cm?

9 . 1813 em?

3« 2073 cm?



Ad v 2473 cm?

Question Number : 112 Question Id : 54592745562 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Uk WISl T ST T o@TS 4 AL F| TS FT 4TS FAT
&7

Options:

1w 12032
D x 18BEA:
3y 2003FA

4. v 2443 A2

Question Number : 113 Question Id : 54592745563 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The radius of a sphere is 6.3 cm. What is the volume of the
sphere?

Options:

1571.724 cm?

1. =

1357 3
2. " 2357 856 cm

3 v 1047.816 cm’



A % 768.1985 cm?

Question Number : 113 Question Id : 54592745563 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tk el FT AT 6.3 T.AT. &1 Mol KT 3IdeT FAT &7

Options:

1 % 1571724073

D % 2357856 AT

3 1047.816 T.&Y.3

A4 = 768.1085 T.&T.3

Question Number : 114 Question Id : 54592745564 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The perimeter of a square is equal to the perimeter of an
equilateral triangle. If the diagonal of the square is 6+/2 cm
long, then what is the length of the side of the equilateral
triangle?

Options:

1. = 6 cm
2. % 12 cm
3.v,8cm
4. = 24 cm

Question Number : 114 Question Id : 54592745564 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



waﬁmmwwma@ﬁﬂaaxwaxwﬁlaﬁ
ﬁwweJ2ﬁ.m.W%,ﬁW§ﬁﬂﬁﬁ§mﬁ

oIS fehcair &7

Options:

1. = 6 &AL
2. = 12 €A
3. v 8 O.A.
4, = 24 QA

Question Number : 115 Question 1d : 54592745565 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The table given below shows rainfall in a city on 7
consecutive days.

Days Rainfall (in mm)
D1 14
D2 67
D3 36
D4 19
D5 108
D6 84
D7 96

What is the ratio of rainfall on D3 and D&?

Options:

1. 11: 21
2.%3:8
3.v3:7
4. %x1:3

Question Number : 115 Question 1d : 54592745565 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



ﬁﬁﬁaﬁwwemﬁm?ﬁa’fﬁg‘éwaﬁ
Zeltdr gl

e | 99T (TARTA. #)
DI 44
D2 67
D3 36
D4 19
D5 108
D6 84
D7 96

D3 Tur D6 <hr auT <Al 3eIaT 1 &7

Options:

1. = 11 @ 21
2. = 3:8
3. v 3:7
4, = 1 : 3

Question Number : 116 Question Id : 54592745566 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The table given below shows the number of water bottles
produced by two companies in 4 consecutive years.

Years | Company 1 | Company 2
Y1 300 320
Y2 900 3380
Y3 500 300
Y4 600 900

What are the average number of water bottles produced by
company 1 and company 2 respectively?

Options:

1. = 750, 600
2. % 600, 750
3. v 700, 850
4. = 850, 700

Question Number : 116 Question Id : 54592745566 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A &1 Rl arferRT 4 FawET aut & & Fufaat gErT scurfed
qTeT T Sl T TEIT FY aL0idr &

ag FOAT 1 FIAT 2
Y1 800 820
Y2 900 880
Y3 500 800
Y4 600 900

Sh#AST: hUal 1 TUT H9al 2 TANT 3cUTiGd Tlail =hl Sidell s
AMraad g&ar F=21T §8°

Options:




1. = /750, 600
2. = 600, 750
3. v /700, 850
4. = 850, /700

Question Number : 117 Question Id : 54592745567 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The table given below shows the number of scooters
produced in different years.

Years | Number of scooters
L& | 2000
Y2 2200
Y3 2300
Y4 2800

What is the percentage increase in the number of scooters
produced in year Y4 from year Y17

Options:

1. = 20 percent
2. » 30 percent
3. v 40 percent
4. = 30 percent

Question Number : 117 Question 1d : 54592745567 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



s & I arforeer afdtee aut & 3cuifed Fmedt #T wear
Zeldr gl

IV | TR W HE
Y1 2000
¥ 2200
Y3 2300
Y4 2800

ay¥ Y4 # 3cuTied Fhedl o7 H&AT A a¥ Y1 & fohcell Alderd
I 7

Options:

1. = 20 wfaerd
2. = 30 gfcrerd
3. v 40 yfaera
4, = 50 yfcaerd

Question Number : 118 Question Id : 54592745568 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The bar graph given below shows the number of cars of
different colours in a showroom.

200 A
170

= 160 150
< 150 120
3 100 A
-
5
Z 50 A

D I | | |

Red White Black Blue
Colour

What are the total number of cars in the showroom?

Options:

1. = 630
2. % 610
3. v 600
4. = 560

Question Number : 118 Question Id : 54592745568 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A fo=r =T gug R v oA & TafRee L@ fr FRT ST
EIT Sl S2ATAT &l

200 ~ E} - T
E 150 - 120
& 100 |
E 50
0 | T T |
AT e T ATel
ar

NEH H FHET hl Fo J&AT T &7

Options:

1. = 630
2. = 610
3. v 600
4. = 560

Question Number : 119 Question Id : 54592745569 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The bar graph given below shows the marks obtained by a
student in different subjects.

I
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What are the per subject average marks obtained by the
student?

Options:

1. =724
2. % 72.8
3.v 73.2
4. % 73.6

Question Number : 119 Question Id : 54592745569 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A fem a=ar gug =y vk o1 ganT RAffed vt &7 urea
3R <1 ZRITCT &
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Options:

1. = 724
2. % J2.8
3. v 73.2
4. = 73.6

Question Number : 120 Question Id : 54592745570 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The bar graph given below shows the number of calendars
printed by a company in five consecutive years.
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Number of calendars printed in year Y4 are what percentage
less than the number of calendars printed in year Y2?

Options:

1. v 12.5 percent
2. » 15 percent
3. = 17.5 percent
4. = 20 percent

Question Number : 120 Question Id : 54592745570 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



s 2T s 2vs AT uiw AR av # TE FUeT ZgRT BT
AT Fosd Fr GEAT Fr T@ITAT &
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Options:

1. v 12.5 gfdera
2. % 15 yfaerd
3. * 17.5 ufderd
4. % 20 wfrerd

General Englishi

Group Number : 7

Group Id: 5459272257
Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time: 0

Group Marks: 20
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Maximum Instruction Time: 0
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General Englishil

Section Id : 5459272257

Section Number : 1

Section type: Online
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Number of Questions; 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 5459272707
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 54592745571 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A sentence has been given with a blank to be filled with an
appropriate word. Choose the correct alternative.

She will return a month.

Options:

1. = between
2. v within
3. = since

4, = by

Question Number : 121 Question Id : 54592745571 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A sentence has been given with a blank to be filled with an

appropriate word. Choose the correct alternative.

She will return a month.

Options:



1. = between
2. v within
3. # since
4. = by

Question Number : 122 Question Id : 54592745572 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A sentence has been given with a blank to be filled with an
appropriate word. Choose the correct alternative.

[am for your loss.

Options:

1. v sorry
2. = grieved

3. = happy
4. = content

Question Number : 122 Question Id : 54592745572 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A sentence has been given with a blank to be filled with an

appropriate word. Choose the correct alternative.

| am for your loss.

Options:

1. v sorry
. ® grieved

2
3. = happy
4

. % content



Question Number : 123 Question 1d : 54592745573 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A sentence has been given with a blank to be filled with an
appropriate word. Choose the correct alternative.

[ am going home.

Options:

1. % 1o
2. % at
3. % 0n
4. v No preposition

Question Number : 123 Question 1d : 54592745573 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A sentence has been given with a blank to be filled with an

appropriate word. Choose the correct alternative.

| am going home.

Options:

1. = to
2. = at
3. % on
4, v No preposition

Question Number : 124 Question 1d : 54592745574 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A sentence has been given with a blank to be filled with an
appropriate word. Choose the correct alternative.

There are not oranges left.



Options:

1. = much
2. ® more
3. v many
4. » much more

Question Number : 124 Question 1d : 54592745574 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A sentence has been given with a blank to be filled with an

appropriate word. Choose the correct alternative.

There are not oranges left.

Options:

1. = much
2. % more
3. v many

4. = much more

Question Number : 125 Question Id : 54592745575 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A sentence has been given with a blank to be filled with an
appropriate word. Choose the correct alternative.

Arjun was in the robbery.

Options:

1. = an adversary
2. v an accomplice
3. = a detractor

4. = a curmudgeon



Question Number : 125 Question Id : 54592745575 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A sentence has been given with a blank to be filled with an

appropriate word. Choose the correct alternative.

Arun was In the robbery.

Options:

1. = an adversary
2. v an accomplice
3. = a detractor

4. = a curmudgeon

Question Number : 126 Question Id : 54592745576 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A sentence has been given with a blank to be filled with an
appropriate word. Choose the correct alternative.

There is no on this bus.

Options:

1. = place

2. v TOOM

3. ® vacancy
4. = slot

Question Number : 126 Question Id : 54592745576 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A sentence has been given with a blank to be filled with an

appropriate word. Choose the correct alternative.

There is no on this bus.

Options:

1. = place
2. v room
3. ® vacancy

4. = slot

Question Number : 127 Question Id : 54592745577 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose a sentence that contains an error.

(1) Rahul was appointed the Monitor.

(2) The Himalayas are the highest mountains in the world.
(3) She was unpacking the luggage by herself.

(4) Radha didn’t went to Mumbal.

Options:

1. =1
2. % 2
3.3
4. v4

Question Number : 127 Question Id : 54592745577 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Choose a sentence that contains an error.

(1) Rahul was appointed the Monitor.

(2) The Himalayas are the highest mountains Iin the world.
(3) She was unpacking the luggage by herself.

(4) Radha didn’t went to Mumbai.

Options:

1. % 1
2. % 2
3. % 3
4.+ 4

Question Number : 128 Question 1d : 54592745578 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the part of the given sentence that has an error in it. If
there 1s no error, choose ‘No error’.

Take rest {1)/ lest you (2)/ should fall (3)/. No error (4)

Options:

1. %1
2. % 2
3.% 3
4.4

Question Number : 128 Question 1d : 54592745578 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Find the part of the given sentence that has an error In It

If there 1s no error, choose ‘No error’.

Take rest (1)/ lest you (2)/ should fall (3)/. No error (4)

Options:

1. % 1
2. % 2
3. % 3
4. v 4

Question Number : 129 Question Id : 54592745579 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the part of the given sentence that has an error in it. If
there 1s no error, choose ‘No error’.

They insisted (1)/ on me (2)/ starting at once (3)/. No error (4)

Options:

1. %1
2.v 2
3.3
4, %4

Question Number : 129 Question Id : 54592745579 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Find the part of the given sentence that has an error In It

If there 1s no error, choose ‘No error’.

They Insisted (1) on me (2)/ starting at once (3)/. No error

(4)

Options:

1. % 1
2. v 2
3. % 3
4. = 4

Question Number : 130 Question Id : 54592745580 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, out of the given four alternatives,
select the alternative which best expresses the meaning of the
Idiom/Phrase.

Let sleeping dogs lie
Options:

1. = To live within one’s means

2. v To leave a situation alone so as to avoid worsening it
3. #» To not disturb someone

4. = To accept any criticism

Question Number : 130 Question Id : 54592745580 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



In the following question, out of the given four alternatives,
select the alternative which best expresses the meaning of

the Idiom/Phrase.

Let sleeping dogs lie
Options:

1. = To live within one’s means
2. v To |leave a situation alone so as to avoid worsening it
3. ® To not disturb someone

4. = To accept any criticism

Question Number : 131 Question Id : 54592745581 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the word that can substitute the given sentence.

A critical judge of any art and craft

Options:

1. = Iconoclast
2. » Emigrant
3. v Connoisseur
4. = Fastidious

Question Number : 131 Question 1d : 54592745581 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the word that can substitute the given sentence.

A crtical judge of any art and craft

Options:

1. = lconoclast



2. *» Emigrant
3. v Connoisseur

4. = Fastidious

Question Number : 132 Question 1d : 54592745582 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the word that can substitute the given sentence.

Place that provides refuge

Options:

1. v Haven

2. » Hole

3. = Harbor
4. » Hangar

Question Number : 132 Question Id : 54592745582 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the word that can substitute the given sentence.

Place that provides refuge

Options:

1. v Haven
2. » Hole

3. = Harbor
4. = Hangar

Question Number : 133 Question Id : 54592745583 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Choose the word that can substitute the given sentence.

Government by mob or a mass of people

Options:

1. = Monarchy
2. * Theocracy
3. v Ochlocracy
4. = Neocracy

Question Number : 133 Question Id : 54592745583 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the word that can substitute the given sentence.

Government by mob or a mass of people

Options:

1. = Monarchy
2. = Theocracy
3. v Ochlocracy

4. = Neocracy

Question Number : 134 Question Id : 54592745584 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Rearrange the parts of the sentence in correct order.

Australia recently

P: most companies

(. gap reporting for

R: mandated gender pay

Options:

1. = PRQ



2. v RQP
3. = RPQ
4. = QRP

Question Number : 134 Question Id : 54592745584 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Rearrange the parts of the sentence In correct order.

Australia recently

P: most companies

Q: gap reporting for

R: mandated gender pay

Options:

1. = PRQ
2. v RQP
3. = RPQ
4. = QRP

Question Number : 135 Question Id : 54592745585 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the given question, four words are given out of which one
word is correctly spelt. Choose the correctly spelt word.

Options:

1. = Dutyful
2. v Dutiful
3. = Dutyiful
4. » Dutifill

Question Number : 135 Question 1d : 54592745585 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



In the given question, four words are given out of which

one word Is correctly spelt. Choose the correctly spelt word.

Options:

1. = Dutyful
2. v Dutiful
3. * Dutyiful
4, = Dutifill

Question Number : 136 Question Id : 54592745586 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the word that is opposite in meaning to the given
word.

DEFILE

Options:

1. = sully

2. = fall

3. v upgrade
4. = debase

Question Number : 136 Question Id : 54592745586 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the word that 1s opposite iIn meaning to the given

word.

DEFILE

Options:

1. = sully
2. = fall



3. v upgrade

4. = debase

Question Number : 137 Question Id : 54592745587 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose an odd one out:

Options:

1. = entice

2. * persuade
3. v lovingly

4, = dissuade

Question Number : 137 Question Id : 54592745587 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose an odd one out:

Options:

1. = entice

2. % persuade
3. ¢ lovingly

4. = dissuade

Question Number : 138 Question Id : 54592745588 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the word that is opposite in meaning to the given
word.

MALIGN

Options:

1. = defame
2. % slander



3. = miserable
4. v benign

Question Number : 138 Question Id : 54592745588 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the word that I1s opposite iIn meaning to the given

word.

MALIGN

Options:

1. = defame
2. = slander
3. * miserable
4. v benign

Question Number : 139 Question 1d : 54592745589 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Improve the bracketed part of the sentence.

They (went) to Chile three times.

Options:

1. v have been
2. = shall been
3. = would have been
4. « No Improvement

Question Number : 139 Question Id : 54592745589 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Improve the bracketed part of the sentence.

They (went) to Chile three times.

Options:

1. v have been
2. = shall been
3. = would have been

4, = No Improvement

Question Number : 140 Question Id : 54592745590 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Improve the bracketed part of the sentence.

She threw the bag (off) the window.

Options:

1. = by

2. % In

3. v through

4. » No Improvement

Question Number : 140 Question Id : 54592745590 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Improve the bracketed part of the sentence.

She threw the bag (off) the window.

Options:

1. = by

2. % In



3. v through

4. = No Improvement

General English?2
Group Number : 8
Group Id: 5459272258
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
IsthisGroup for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

General English?

Section Id : 5459272258

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 16

Number of Questionsto be attempted: 16

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 5459272708
Question Shuffling Allowed : Yes

Question Number : 141 Question Id : 54592745591 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Improve the bracketed part of the sentence.

This shirt is {made of) silk.

Options:

1. * made from
2. * made by



3. » made up from
4. v No Improvement

Question Number : 141 Question Id : 54592745591 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Improve the bracketed part of the sentence.

This shirt is (made of) silk.

Options:

1. = made from
2. *» made by
3. * made up from

4. v No Improvement

Question Number : 142 Question Id : 54592745592 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A sentence has been given with a blank to be filled with an
appropriate word. Choose the correct alternative.

Sohan finished the work.

Options:

1. = shall

2. % will

3. = will be
4. v will have

Question Number : 142 Question Id : 54592745592 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A sentence has been given with a blank to be filled with an

appropriate word. Choose the correct alternative.

Sohan finished the work.

Options:

1. = shall
2. = will
3. = will be

4. v will have

Question Number : 143 Question Id : 54592745593 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the part of the given sentence that has an error in it. If
there 1s no error, choose ‘No error’.

The short month (1)/ of the year (2)/ is February (3)/. No error
(4)

Options:

1.+1
2. % 2
3.% 3
4. %4

Question Number : 143 Question Id : 54592745593 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Find the part of the given sentence that has an error In It

If there 1s no error, choose ‘No error’.

The short month (1)/ of the year (2)/ 1s February (3)/. No

error (4)

Options:

1. v 1
2. % 2
3. % 3
4. = 4

Question Number : 144 Question Id : 54592745594 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, out of the given four alternatives,
select the alternative which best expresses the meaning of the
Idiom/Phrase.

By hook or crook

Options:

1. = A personal interest in the matter
2. = A severe and conclusive test

3. = To get oneself into trouble

4. v By fair or foul mean

Question Number : 144 Question Id : 54592745594 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



In the following question, out of the given four alternatives,
select the alternative which best expresses the meaning of

the Idiom/Phrase.

By hook or crook

Options:

1. = A personal interest In the matter
2. = A severe and conclusive test
3. = To get oneself into trouble

4. v By fair or foul mean

Question Number : 145 Question Id : 54592745595 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Rearrange the parts of the sentence in correct order.

The shop
P: itself is a

(): mixture of
R: old and new

Options:

1. = PRQ
2. = RPQ
3. v POQR
4. = QPR

Question Number : 145 Question Id : 54592745595 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Rearrange the parts of the sentence In correct order.

The shop
P: itself 1s a
Q: mixture of

R: old and new

Options:

1. = PRQ
2. = RPQ
3. v PQR
4. = QPR

Question Number : 146 Question 1d : 54592745596 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the given question, four words are given out of which one
word is correctly spelt. Choose the correctly spelt word.

Options:

1. v Potato
2. * Pototo
3. = Patato
4. = Patota

Question Number : 146 Question Id : 54592745596 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the given question, four words are given out of which

one word I1s correctly spelt. Choose the correctly spelt word.

Options:

1. v Potato



2. = Pototo
3. = Patato

4. = Patota

Question Number : 147 Question 1d : 54592745597 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose an odd one out:

Options:

1. = depart
2. = abscond
3. v arrest
4. = flee

Question Number : 147 Question 1d : 54592745597 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose an odd one out:

Options:

1. = depart
2.  abscond

3. ¢ arrest

4. = flee

Question Number : 148 Question Id : 54592745598 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Improve the bracketed part of the sentence.

The school (is closed) on Sundays.

Options:

1. = have closed
2. % closes



3. = will closed
4. v No Improvement

Question Number : 148 Question Id : 54592745598 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Improve the bracketed part of the sentence.

The school (is closed) on Sundays.

Options:

1. = have closed
2. % closes
3. % will closed

4. v No Improvement

Question Number : 149 Question Id : 54592745599 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A sentence has been given with a blank to be filled with an
appropriate word. Choose the correct alternative.

Honesty 1S hest policy.

Options:

1. = a

2. v the
3. % an
4. = 10 be

Question Number : 149 Question Id : 54592745599 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A sentence has been given with a blank to be filled with an

appropriate word. Choose the correct alternative.

Honesty Is best policy.

Options:

1. = a
2. ¢ the
3. % an

4. = to be

Question Number : 150 Question Id : 54592745600 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the part of the given sentence that has an error in it. If
there 1s no error, choose ‘No error’.

Maria reading (1)/ to a blind (2)/ girl every week (3)/. No error
(4)

Options:

1.+1
2. % 2
3.% 3
4. %4

Question Number : 150 Question Id : 54592745600 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Find the part of the given sentence that has an error In It

If there 1s no error, choose ‘No error’.

Maria reading (1) to a blind (2)/ girl every week (3)/. No

error (4)

Options:

1. ¢ 1

2. % 2
3. % 3
4. = 4

Question Number : 151 Question Id : 54592745601 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, out of the given four alternatives,
select the alternative which best expresses the meaning of the
Idiom/Phrase.

Under a cloud

Options:

1. ¥ Under suspicion

2. = At the map distance

3. » Dream about the future
4. = To make no fuss

Question Number : 151 Question Id : 54592745601 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



In the following question, out of the given four alternatives,
select the alternative which best expresses the meaning of

the Idiom/Phrase.

Under a cloud

Options:

1. v Under suspicion
2. = At the map distance
3. ® Dream about the future

4. = To make no fuss

Question Number : 152 Question Id : 54592745602 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Rearrange the parts of the sentence in correct order.

Families are

P: than groups
(O: much more
R: of individuals

Options:

1. v QPR
2. = QRP
3. = PRQ
4. = RPQ)

Question Number : 152 Question Id : 54592745602 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Rearrange the parts of the sentence In correct order.

Families are
P: than groups
Q: much more

R: of individuals

Options:

1. v QPR
2. = QRP
3. = PRQ
4. = RPQ

Question Number : 153 Question 1d : 54592745603 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the given question, four words are given out of which one
word is correctly spelt. Choose the correctly spelt word.

Options:

1. = Deying
2. v Dying

3. » Diuing
4. = Dyeng

Question Number : 153 Question Id : 54592745603 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the given question, four words are given out of which

one word I1s correctly spelt. Choose the correctly spelt word.

Options:

1. = Deying



2. v Dying
3. = Diuing
4, = Dyeng

Question Number : 154 Question 1d : 54592745604 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the word that means the same as the given word.

KIDNAP

Options:

1. = liberate
2. = salvage
3. % rescue
4. v abduct

Question Number : 154 Question Id : 54592745604 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the word that means the same as the given word.

KIDNAP

Options:

1. = liberate
2. % salvage
3. % rescue

4. v abduct

Question Number : 155 Question Id : 54592745605 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Improve the bracketed part of the sentence.

It does not take (more) to make her angry.

Options:

1. = a lot more

2. v much

3. = much more

4. = No Improvement

Question Number : 155 Question Id : 54592745605 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Improve the bracketed part of the sentence.

It does not take (more) to make her angry.

Options:

1. = a lot more
2. v much
3. % much more

4. = No Improvement

Sub-Section Number: 2
Sub-Section Id: 5459272709
Question Shuffling Allowed : Yes

Question Id : 54592745606 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (156 to 160)

Question Label : Comprehension



Read the following information carefully and answer the
given questions.

Count Lev Nikolayevich Tolstoy, usually referred to in English
as Leo Tolstoy, was a Russian writer who is regarded as one
of the greatest authors of all time. He received multiple
nominations for Nobel Prize in Literature every year from
1902 to 1906, and nominations for Nobel Peace Prize in 1901,
1902 and 1910, and his miss of the prize is a major Nobel
Prize controversy.

Born to an aristocratic Russian family in 1828, he is best
known for the novels War and Peace (1869) and Anna
Karenina (1877), often cited as pinnacles of realist fiction. He
first achieved literary acclaim in his twenties with his semi-
autobiographical trilogy, Childhood, Boyhood, and Youth
(1852-1856), and Sevastopol Sketches (1855), based upon his
experiences in the Crimean War. Tolstoy’s fiction includes
dozens of short stories and several novellas such as The Death
of Ivan Ilyich (1886), Family Happiness(1859), and
HadjiMurad (1912). He also wrote plays and numerous
philosophical essays.

In the 1870s Tolstoy experienced a profound moral crisis,
followed by what he regarded as an equally profound
spiritual awakening, as outlined in his non-fiction work A
Confession (1882). His literal interpretation of the ethical
teachings of Jesus, centering on the Sermon on the Mount,
caused him to become a fervent Christian anarchist and
pacifist. Tolstoy's ideas on nonviolent resistance, expressed in
works such as The Kingdom of God Is Within You (1894),
were to have a profound impact on such pivotal 20th-century
figures as Mahatma Gandhi and Martin Luther King Jr.
Tolstoy also became a dedicated advocate of Georgism, the
economic philosophy of Henry George, which he incorporated
into his writing, particularly Resurrection (1899).



Sub questions

Question Number : 156 Question Id : 54592745607 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

For which non fictional work is Tolstoy best known?

Options:

1. = War and Peace

2. = Sevastopol Sketches
3. » HadjiMurad

4. v A confession

Question Number : 157 Question Id : 54592745608 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the antonym of the word ‘profound’?

Options:

1. = Serious

2. = Subtle

3. v Superficial
4. = Deep

Question Number : 158 Question 1d : 54592745609 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In which year was his novel, Family Happiness published?

Options:

1. = 1912
2. v 1859
3. = 1855
4. = 1877

Question Number : 159 Question 1d : 54592745610 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tolstoy also became a dedicated advocate of

Options:

1. = Anarchism



2. v Georgism
3. = Pacifism
4. = Philosopher

Question Number : 160 Question Id : 54592745611 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the synonym of the word ‘pinnacle’?

Options:

1. = Bottom
2. » Nadir
3. v Apex
4. = Light

Question Id : 54592745606 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (156 to 160)

Question Label : Comprehension



Read the following information carefully and answer the

given questions.

Count Lev Nikolayevich Tolstoy, usually referred to In
English as Leo Tolstoy, was a Russian writer who is
regarded as one of the greatest authors of all time. He
received multiple nominations for Nobel Prize in Literature
every year from 1902 to 1906, and nominations for Nobel
Peace Prize in 1901, 1902 and 1910, and his miss of the
prize is a major Nobel Prize controversy.

Born to an aristocratic Russian family in 1828, he is best
known for the novels War and Peace (1869) and Anna
Karenina (1877), often cited as pinnacles of realist fiction.
He first achieved literary acclaim in his twenties with his
semi-autobiographical trilogy, Childhood, Boyhood, and Youth
(1852-1856), and Sevastopol Sketches (1855), based upon
his experiences in the Crimean War. Tolstoy's fiction
Includes dozens of short stories and several novellas such
as The Death of Ivan llyich (1886), Family Happiness(1859),
and HadjiMurad (1912). He also wrote plays and numerous
philosophical essays.

In the 1870s Tolstoy experienced a profound moral crisis,
followed by what he regarded as an equally profound
spiritual awakening, as outlined in his non-fiction work A
Confession (1882). His literal interpretation of the ethical
teachings of Jesus, centering on the Sermon on the Mount,
caused him to become a fervent Christian anarchist and
pacifist. Tolstoy's ideas on nonviolent resistance, expressed
in works such as The Kingdom of God Is Within You
(1894), were to have a profound impact on such pivotal 20th-
century figures as Mahatma Gandhi and Martin Luther King
Jr. Tolstoy also became a dedicated advocate of Georgism,
the economic philosophy of Henry George, which he

Incorporated into his writing, particularly Resurrection {1899).



Sub questions

Question Number : 156 Question Id : 54592745607 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

For which non fictional work 1s Tolstoy best known?

Options:

1. = War and Peace

2. » Sevastopol Sketches
3. * HadjiMurad

4. v A confession

Question Number : 157 Question Id : 54592745608 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the antonym of the word ‘profound™?

Options:

1. = Serious
2. = Subtle

3. v Supefrficial
4. = Deep

Question Number : 158 Question Id : 54592745609 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In which year was his novel, Family Happiness published?

Options:

1. = 1912
2. v 1859
3. = 1855
4. = 1877

Question Number : 159 Question 1d : 54592745610 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Tolstoy also became a dedicated advocate of

Options:

1. = Anarchism

2. v (Georgism

3. # Pacifism

4. = Philosopher

Question Number : 160 Question 1d : 54592745611 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

What Is the synonym of the word ‘pinnacle’™?

Options:

1. = Bottom
2. = Nadir
3. v Apex
4. = Light

Group Number :

Group Id:

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group?:
Edit Attended Group? :
Break time:

Group Marks:
IsthisGroup for Examiner?:

Revisit allowed for group Instructions? :

Maximum Instruction Time:
Minimum Instruction Time:

Section Id :
Section Number :

General Hindi1l

9
5459272259
0

0
No
No
0
20
No
Yes
0

0

General Hindil

5459272259
1



Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 5459272710
Question Shuffling Allowed : Yes

Question Number : 161 Question Id : 54592745612 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e T S[ec, &l GTer TaTde, AATd hisIy]

Weel

Options:

1. % g+ &e
2. % 9 + Jeel
3. % 9+ Jeel
4, v + 3

Question Number : 161 Question Id : 54592745612 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

faw v oreg w7 Y B AT Hiiaw|

Question Number : 162 Question 1d : 54592745613 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



e T S[ec] i JTer T ity

aq: + o+

Options:

1. # T
2. v Toq

3, & qUr
4, =

Question Number : 162 Question Id : 54592745613 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

few arv ersay Fr iy Fra Friew

d4q: + dol

Options:

1. = 3o
2. v [ager
3. % JguT
4, = A

Question Number : 163 Question 1d : 54592745614 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

few M sree ¥ Tohg YR &t I 3 ATT hi=gl

T

Options:
1. = 70T
2. v o

3. = Ul

4. * g



Question Number : 163 Question 1d : 54592745614 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

few a0 e H ToFg UeohX T O § AT S0

HIdad

[-%
Options:

1. =

4

2.
3. =
4,

W d

Question Number : 164 Question Id : 54592745615 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3T, 3T 37T 3ITAT S[Ee, DI F A€, d ISIGL 87

Options:

1. * T
2. v Tace
3. % &G

4. = qM®

Question Number : 164 Question Id : 54592745615 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

MNTH, MTAGAT 3T MTaTe g il & 26C o 3ETEI0T 87

Options:

1. = 2o
2. v Tage
3. * &&

4, = IR

Question Number : 165 Question 1d : 54592745616 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



TEQ Tq arerd # I FelTH el JULNT e [eh TIT Dl Yid DITeql

UdT &t g & 91e, =419 of Teram

Options:

Question Number : 165 Question Id : 54592745616 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fev 30 gy A 3R T9aTH T 396 s Nod TATe hr
GRS

Teall T HcI & a1 Feary o fer

Options:

1. » &He
2. = ToRgeRT
3. = 3O9

4. v SeEY

Question Number : 166 Question Id : 54592745617 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TeU T araraier 3 Tory 3T ¢ a1 I+ eyl

g § fordt g&ad

Options:
1. = grer et

2. % gEAYEID

3. v g




4, = gEdiordl

Question Number : 166 Question 1d : 54592745617 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tew 7T grerrel & v 3T esg T Tdd FITv|

gy & ol gea+

Options:

1. = grer o
2. % ExITEdh

S.JEIE%T'I:EF
4. = BEATeIET

Question Number : 167 Question Id : 54592745618 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T T aTerdiel & TelT 3T Tec, &7 T hieiy|
ST 39T & et

Options:

1. = 3MHTT
2. ¢ GelH
3. % A

4. » GiHel

Question Number : 167 Question Id : 54592745618 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

few arv grearer &+ folv 3T =g =1 ¥ Hifev)

ST 3MrETEr 8 e

Options:

1. = 3Tl



Q.Jﬂﬂ'ﬂ
3.*'\@%
4.w§ﬁ?»r

Question Number : 168 Question Id : 54592745619 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e T Srec T ToelIH e, ATd BTy
IPESIES

Options:

1. v 9189
2. % FST
3. = &y
4. % Thell

Question Number : 168 Question Id : 54592745619 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

2w v orsg T AaNHT oo AT Fiiaw]

IGESSIES

Options:

1. v gI&©q
2. % 3T
3. = &
4, = el

Question Number : 169 Question 1d : 54592745620 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

MgTelrad # ¥ g adsil &7 a3 DIyl

Options:

1. = greTe-T




Question Number : 169 Question Id : 54592745620 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

%ﬁﬁ@ﬁﬁﬁaﬁaé?ﬁww%ﬁvl

Options:

1 [

« gradrerel
2. % gradIieuir
3. v drediical

4. = gEATEIOT

Question Number : 170 Question Id : 54592745621 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T MU S[ec @l T JATd hiTTg]
oft

Options:

1. v i
2. % G
3. * Jeol1q
4, % 3N

Question Number : 170 Question Id : 54592745621 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

faw 377 oreg T TATIAT™T AT hIT<TT|

AT

Options:

‘I.JCFI?:I%



2. % GG

o

3. % Jeolld
4. = 37T

Question Number : 171 Question Id : 54592745622 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

MATCId § & DI IT e, I [T U6, 00 572

1. » g€ -UTe
2. % a3 - et
3. = dlc - e
4. v ggI - #ioT

Question Number : 171 Question Id : 54592745622 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

forafafad & & Sl @7 oeg JIA Yoaserd o JIA &7

Options:

1. = o€ - OIC

o A

2. - BT
3. = - T
4. v - HIaT

Question Number : 172 Question 1d : 54592745623 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

MgleliEd & & @I 97 2ee, I [ SIec, I g7

Options:

1. » g0 - 90

2. % I - FIG
3. * 19 - ToRrey

4, v AR - 4TS

Question Number : 172 Question Id : 54592745623 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

farafali@d & & FleT AT Ueg JIA Yoo Ase IIA &7

Options:

1. = I - MY
-

2. % Y - STAFRT
3. % ST - TeRTedT
4, v A - 415

Question Number : 173 Question Id : 54592745624 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TEQ Y ey § SUGeh e, DT AT dhieh T¥eh AT hl Yiet ol

gog gia grfedr ot gl

Options:

1. = T
2. v TETEI
3. = A
4. « WA

Question Number : 173 Question Id : 54592745624 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fow 7w g A& 3YYFT e, T TI Flh [ TuTeT ST gid
FIeIT]

geg aia & Rfsar CEICIY

Options:

1. = 3mal

2. v Jadga
3. » olhal



4. = TATAITS

Question Number : 174 Question Id : 54592745625 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

e T SIec T ThelI¥ SIec SATd hisgl

STHTTET

Options:

1. * SIS
2. » Ulgdh

3. % M

4. v QUTHTET

Question Number : 174 Question Id : 54592745625 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T v orsg T AT oo AT FiiSvw]

SHATIET

Options:

1. = TUSS
2. » Ufgeh
3. * 3hY
4.@{\0@'@

Question Number : 175 Question 1d : 54592745626 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TCT T SIeE, @l GATATIAT Sec FATT DIy

AT

Options:

1. = =TS



2. v arae
3. % 3THT
4, = T TeT

Question Number : 175 Question Id : 54592745626 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

oW 31T oTsg hT HATATAT esg AT FITATI

AT

Options:

1. = 3L
2. v gl
3. % 3TTHT

4, = grem

Question Number : 176 Question Id : 54592745627 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TEQ MQ arerd # I UL BT I DHleh 1¥eh €T Dl et iy
fester, 3T A% g ST 3l

Options:

1. = &f
2.« T
3.+
4. % ¥

Question Number : 176 Question Id : 54592745627 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



feT 910 arerg A 3T TWEeT FT el Hhleh e FATT HT et
FIeTT|

feater, 3meT AL ST STeHA e §l

Options:

1. = T
2. v T
3.« &
4, = H

Question Number : 177 Question Id : 54592745628 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TeT T 19T § HIBH 91T BT GaI DRD FATd DI
QT (geell #) Teh oI 3N gt 4Tl

Options:

1. v JT&E
2. % ddl
3. ® T
4. » GITET

Question Number : 177 Question Id : 54592745628 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

feT 1T gy H HISach HET FT ol e ATd hiIov|

AT (Bdell #) Tk gel 3 BT o)

Options:

1. v TIRTOT
2. % hdl



3. % hIOT
4., » el

Question Number : 178 Question 1d : 54592745629 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Mg § T DI 9T e, STl 7

Options:

Question Number : 178 Question 1d : 54592745629 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fAeITelaa A & Sid GT1 eleg Eifeldl &7

Options:

1. » Gled
2. v 3IcHAT
3. = gad
4, = ©r

Question Number : 179 Question Id : 54592745630 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

TEU 1T 916 BT Sgera FATd iUl

I®

Options:

1. # &S
2. % TR0

3. * TEE
4, v &



Question Number : 179 Question 1d : 54592745630 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

20U I o F SREREEEIS e

&

o]
Options:

1.wa;msﬁ
2.« IO
3. = &dG

s | -

4.&?3}@?

Question Number : 180 Question Id : 54592745631 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TEU 1T 96 BT Sgera FATd Tyl

3T

Options:

1. v 317 &7
2. % 3T S
3. = 3T
4, % eI

Question Number : 180 Question Id : 54592745631 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

BT 7T 9T <R Sgade AT hIaT]

9

Options:

1. v 31T oNeT
2. % 3T STl



3. = 3TYITOT
4. % 3TIGeT

General Hindi?2

Group Number : 10
Group Id: 5459272260
Group Maximum Duration : 0
Group Minimum Duration : 120
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
Isthis Group for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

General Hindi2

Section Id : 5459272260

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 16

Number of Questionsto be attempted: 16

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 5459272711
Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 54592745632 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Mgfeiad & & g arad & Td= hirayql

Options:

1. * & U oTIHT Yol 1T

2. % 37T H o1 Agl 0Tl

3. v gH ISR 1Y, 39 TdhdTe @d¢l 3T eTa 31T Y]
4, « GH 3ITUY Ugot 51 Py & Ty AT =i g1 Tl




Question Number : 181 Question Id : 54592745632 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AeaTel@ad # 8 & ATFT KT TI ST

Options:

1. = Hel U STl HT T
2. % 3T &8H I oTal MU

3. v &H STeR 910, Fo fohctel TET 3T arag 31 arv|
4. » TH 3TIS Uge & g & ToF AcT IR 87 T

Question Number : 182 Question Id : 54592745633 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

el § & oI 97 919 96T a1ad g1 82

1. = W oTIT BIGT U AT § QI

2. * G GoI= U STERT g 1l

3. v WM AT T & a1 39Tl & U @M
4, » AT &S &N 3T 3 b 3l

Question Number : 182 Question Id : 54592745633 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

faraeEa & O Sl a1 g O3 gy A 181 57

Options:

1. = B ol9T HIHT Ui ITAT H 7Y

2. = {IST Eelel UT 37T @I AT

3. v M AT A && ot swfev # I @l
4. = FAT HA §S AT 3 3 Tk &

Question Number : 183 Question 1d : 54592745634 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



e T a7 # iBd 91T 6T Hlel AT ATl

TOar St &< (3 gim)

Options:

1. v STl aad™

2. % YT Yiatad
3. * GIATT IqaT™
4. » GICTE Ychlel

Question Number : 183 Question Id : 54592745634 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

f&T 1T gGroFT H FISSH HTIT FT Flel ATd hITAT|

orar Sir =X (31 &)

Options:
1. v Geag TaHTe
2. = gHTY Higsad
3. % TIHT TIHAT
4. = GieTe HIFrel

Question Number : 184 Question 1d : 54592745635 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T TTT are & e Y e Biegl

g T ST g1 ATl
Options:

1. v vTaa=T
2. % daarRd
3. = pHATY
4. % TS




Question Number : 184 Question 1d : 54592745635 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

few av gy & areg v ugara Hifav)

g & T dal AT

Options:

1. v HATGdTI
2. % Hgdred
3. = hAA

4. = Taeay

Question Number : 185 Question Id : 54592745636 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T T aTe g & U& ATd hiigl

ag 1T WX HgTd AT UT Tl Glhel ZTI

Options:

1. v IIECTTdd
2. % I Ed
3. * Mcgdrediaad

4. * GIAIATH®

Question Number : 185 Question Id : 54592745636 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

8T 37T ey hT T&T AT RS0

ag ol 81T AgeAd FIAT AT T Ahel 3|

Options:

1. v eITEAITHh

2. % TEIdard<h




3. * Tacadeads

R IG R CICED

Question Number : 186 Question 1d : 54592745637 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

few U e &t gier AT difery
T ST Teleget gl el

Options:

1. v Rigard®
2. » Ydhardd

3. = Ui ®
4. % reddr YD

Question Number : 186 Question Id : 54592745637 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

QU 31w areFT T Fica AT HIfIv]

dFe ST foeshel aigT fAelsi|

1. v egardss
2. % Fohdlddh
3. » AR

4. = STEIAT b

Question Number : 187 Question Id : 54592745638 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

T Y eTer T T TFY AT DI
g ThdTd UG TT 3

Options:




1. = qqH
2. % JH
3. % HeIH
4, v I

Question Number : 187 Question Id : 54592745638 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

BT T g TEY AT RIaw]

ag fordme 9g @ &I

Options:

1. = TIH
2. % 3cdH
3. » HAYIH
4, v e

Question Number : 188 Question 1d : 54592745639 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

MHTeiad Uy #, ICU U 9 [ddhedl # 9, 39 [ddmed @ T+ & Sl e U
T qgTar & 31 ol AYS & & ek BT 3l

REIES 1

Options:

1. * FTSIS HEATI

2. » 7T T et AT 51 TS gl

3. * A I g1 AT IAW AT T 3l
4, v GG B T

Question Number : 188 Question Id : 54592745639 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




AT a weaT A, GT 91T IR Fheur & &, 39 dhed F
T R S OU T JETeY & AT FT FIATS FT H kA
LT ¢

g1l ATgelr

Options:

1. % SIS ol

2. = TR T Tl M9l &r 9=SdT &1

3. * I Eel & FLelT 3ccdA ATAT T g
4. v TETT FHT STl

Question Number : 189 Question Id : 54592745640 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fgferad vy §, RU U IR deut § ¥, 39 aey o a7 o 5w
MY YETer o 37ef Pl Fel9s €T F <h T 3l

Tg 48 3R T &t et

Options:

1. * 3N ATHR 3 G TSI

2. » Telogel UG gl

3. v ANIAT & 3IT4® T BT STg|

4. % 30 UTH i & Hgcdgl FHSIT SATdT gl

Question Number : 189 Question Id : 54592745640 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




AT a weaT A, GT 91T IR Fheur & &, 39 dhed F
T R S OU T JETeY & AT FT FIATS FT H kA
LT ¢

Tg Hg 3T TAYT T 27l

Options:

1. % 3 arEeh 3T §g wei

2. » fedhel 3fadg BTl

3. v IEIAT F IAF Ul FT TTHH|

4. « 39el UTH T O] HABcdeld AT ST B

Question Number : 190 Question Id : 54592745641 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fgferad vy §, RU U IR deut § ¥, 39 aey o a7 o 5w
MY YETer o 37ef Pl Fel9s €T F <h T 3l

oI s T

Options:

1. v T Ta [0 § It 1@l
2. » g¥ AT # Ueh AT ATl
3. » IE eFich &I § g 34 g

4. % Pl hUC hIATI

Question Number : 190 Question Id : 54592745641 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



AT a weaT A, GT 91T IR Fheur & &, 39 dhed F
T R S OU T JETeY & AT FT FIATS FT H kA
LT ¢

olITH hal hiall

Options:

1. v GdTeld T foagqor & a&dr @
2. » & ufa & v @A Gl
3. = g AP T & 8 5 &l

4. = Tol hIdC hidAT|

Question Number : 191 Question Id : 54592745642 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fgferad vy §, RU U IR deut § ¥, 39 aey o a7 o 5w
MY YETer o 37ef Pl Fel9s €T F <h T 3l

de arag a1

Options:

1. = QT BT ATerT il
2. % Yol B H TIET USATI

3. % B o T ST ATAT TelT= I

4, v IGSAIT d1d

Question Number : 191 Question Id : 54592745642 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



AT a weaT A, GT 91T IR Fheur & &, 39 dhed F
T R S OU T JETeY & AT FT FIATS FT H kA
LT ¢

CEEGIE D ICGIE]

Options:

1. %= ZTeT T olTelT BT

2. = 3ol 1A A e U347

3. % Balet & foIw SIS 3Mmer feerer|
4, v NTESAT T

Question Number : 192 Question Id : 54592745643 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TEQ T 2rec] @ GHg o Tl TGt GETa dr Ig iyl
7T &l ST ST o]

Options:

1. * daot il TAT &L & AT
2. v 3&dl iedT & U =T
3. = IR DI oI | Ta-anr
4, » ST § TP AR F o

Question Number : 192 Question Id : 54592745643 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

feu arv ersel & FHAE + AU WL FEra¥ T =TI FISA0|

A T §1d ST oaT|

Options:

1. = dsel hT Tl FeL & AT




2. v 33dT REAr & 9w Fdar
3. = I FT gl A Taaenr
4. « ST H @H AIX T T

Question Number : 193 Question Id : 54592745644 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TET Y AT & T gl elleniich T T Dhieh 1Xeh €T i Yt iyl

IRIT & AT T Ugot 31T 14 & BT Jadh

Options:

1. v g7 UTe Goed T
2. % BTY Held T
3. % BT Ul A @ T
4, = T g 19 18 Ty

Question Number : 193 Question Id : 54592745644 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fou a7 g & forv @@ aeRerd T I Hlh o T2ATe
Fr gfd Fifowl

I o GHT # Ugol 3T STl & hROT Haloh |

Options:

1. v g1 9i9 Fel 97T

2. = BT Hold I§ JT

3. = BT Ulg ARG Ig 0

4. = T Nhy YIS Us T

Question Number : 194 Question Id : 54592745645 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



T T a1 | Tohg O Rig & U [T ST AT hiigl

aTg & T G el TehdTl

Options:

1. ™"
2. %7
3. v
4, =,

Question Number : 194 Question 1d : 54592745645 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

few a0 gy A oFE [TA REST T 39Ner AT STvem AT
FIew|

arg AT T& T R

Options:

-‘I. o m n

2. % 7?
3. v |
4. %

Question Number : 195 Question Id : 54592745646 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

2 227k T 3 T Ty Fevg apT WiT T 77T 22

Options:

1. » T5TH

2. v Taenggan
3. = e
4, * TACTR



Question Number : 195 Question Id : 54592745646 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

&Y =Tod A F ToT ThE Rger &7 vaer fhaT Srar &7

Options:
1. = Jroleh
i

2. v TOTHILSD

3. = HIOUH

4. = iaéﬁﬁ
Sub-Section Number: 2
Sub-Section Id: 5459272712
Question Shuffling Allowed : Yes

Question Id : 54592745647 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (196 to 200)

(Question Label : Comprehension

TTEIiST T ETYeich UG TUT Ucddh U # AR fahetdl # ¥ Fgl Teldhey 1

W 37T UTpided HUCT o [T [ §9R # e QT Hgea T@dr gl febas
QIHTLATell 3 g Tdh A 3 AT 4T I S0 ToldTl Ypia = T o g1
T & YR Dl STAaTy, A, TSR, GG, ATEAeT AR Tty aig hr
WIS ATaYT ThdT 2T &t ol T8 g1 IgT ag YA g e v a9 &
HYUT ferser et Uehriad Thd Tl $9 |iv <l [ITSAT HI ehgl AT W gl 38 TS
ST i dhl [ATSATI IS &1 81 ST Al AT &, 378 ST IS4 Pl {IhT
HT THeTdT 31 Ig &er ATA AT BT 90 T@T g1 HIS-HASITS, 9 b gla
Tt G 3N IITgHT h AN U oel| o | T TITelt, guTT @i a1,
YRR Ueo, aTel THTER Tdetdh 3R STATgLelTel "g® 9 AdT3ll Pl ST&Xd gt
| ST ERAT 7 U AT D T 1¢AT 3 3R Ufas AT 21 8 U T IR
g AT TR F UZUT BT PO Tardt e 3 GIUST DT P TS # g
AT HieT et TgelT™ @l UITE ThdT g UX g Ssrar UdT ITerer et sipr
qIied T S AT TR g g o ol et




Sub questions

Question Number : 196 Question Id : 54592745648 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

& & QITIILITelT 82

1. v WRd # U1 gT

2. % G Bl FRITSAT 3
3. * ¥RAT W UeT gU

4. * A IR YT gU

Question Number : 197 Question Id : 54592745649 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

&g YAl A Thg @ AT 12T 872

Options:

1. v gdf @f

2. % 3Tdddlc &l
3.« dNT @l

4. % AT @

Question Number : 198 Question Id : 54592745650 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

§H TISTeITT & T Peit?

Options:

1. T Ug=TqH

2. * FieT Ggerdn

3. v QYT dddT B Zeran
4. * TYYH &L TATAN

Question Number : 199 Question Id : 54592745651 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3Ueh TS T Sftieh T 372

Options:

1. = 919 & RAfgar
2. » VT 3T giveTidddr




3. » JqT31Y BT 34
4. v B GUAT BT R

Question Number : 200 Question 1d : 54592745652 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

gH T & g g amigy?

Options:

1. v 9T - YdITde,
2. % gcg
3. = 3ATgdr

4, = dr=t

Question Id : 54592745647 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (196 to 200)

Question Label : Comprehension



AT FT ATAqdh T TAT Tedeh T2l H TR faehedt & @

i M
Hal fashed o

HNT 3T Ipicish UaT & ol ¥ §ERX # TORIY Agcd &
& Traa ghmegemel § &7 & A4 59 A 9dl 9 SloH
foml upfd & a1 F =T &I & TR ST Ferary, Her,
TSR, HHg, AEEYS AT fafaw avg $r sierer amer fodr s
T AT TG &1 TET T8 HIA § e 319e AT @ AU foed
T TRITRIT TohaTl 38 @la hT RSAT AT FT T—T 9T FgT 38
Mg BANT Al shr AT RIF a1 7160 S @i BT g, 306
FT 3&e T AleRT AT Aoar &1 I8 325 IT AT &7 321 &
g HAIS-TcieTares 8 HFd gk Ml & dcg 3R 3f&ar & A7l
9T Tel| S A T ey, gAY =I5 91, TER g, qrel
IPMIT Teleh 3T SO ag® o8 ad3il hr ST&a g9
=g odT o @Y gAT S gEATe fear § 3w ufaT A & AT
Ul T HRT I& ool T T AFOT FHATT| O ot e o
HIIEIRIRAT T 3775 H AN ASEd ailg I fgella w1 9
foraT & 9T 8F sierare OET R i SR Arfed i 39
AT W THE dE & ol [Zeldr|

Sub questions

Question Number : 196 Question Id : 54592745648 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘I.JSJRT-I'EEFWT
2. = et Fr DT B



S.Q%RT-TT‘:ITW?
4. = Hes¥ Tl ﬁarg':f

Question Number : 197 Question 1d : 54592745649 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

0 o3l of fohd s GFATeT fear g7

1p.\~:-?‘£1ﬁ3|$f

2. = 3{TIhdlg !
3. = dTel Al

4. = faATOT &I

Question Number : 198 Question Id : 54592745650 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

&H teTdrel T HLA?

Options:

1. = dTel Ug«T9al

2. = SI8T HglR—iar

3. v HIYSIAhdT Y &Car
4. » UIF M TR

Question Number : 199 Question Id : 54592745651 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SYYF IEGT T Ao 4T &7

Options:

1. = O fr AEIT
2. » {NT A FTIeI=—ehdl

3. = AdI3l A

4. v A YT AT AR




Question Number : 200 Question 1d : 54592745652 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

BH TohE @ FFcd glelr Trfge?

Options:

1. v T2 - AdIAG

2. = A
. % 3TEET

3
4. = e




